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Problem Description
Field of study:
 Industrial process control

Purpose:
 To optimize the control of a conveyor belt dryer for the drying of fish feed.

Prerequisites:
 The project is a continuation of
 1. The project and diploma work of John Paul Salvador from 2007/2008.
 2. The project work of Tord van Delft in 2009.
 The student will be supplied with a model of a conveyor-belt dryer.

Main content:
 1. Model development
  a.  Verification of the existing model
  b.  Further development of the model to account for noise and disturbances.
  c.  Model simplifications for MPC.
  d.  Simulation and evaluation of the process dynamics (open-loop)
 2. Development of MPC for the conveyor-belt dryer.
  a.  MPC design based on the simplified model.
  b.  The MPC algorithm should be computationally efficient and the computational
requirements should  be realistic for a real implementation..
 3. Evaluation of the controller
  a.  Nominal stability analysis
  b.  Compare the MPC to basic/existing control configurations
 4. Optional tasks (if time allows):
  a.  Compare the model to the real conveyor-belt dryer.
  b.  Evaluate implementation of the controller.
  c.  Implementation of controller.

Assignment given: 11. January 2010
Supervisor: Morten Hovd, ITK
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� ����������� 	�
 �� 
� �����
� D*��>;�E ������
��� ���������
 ��� ��� 
�� ���
� ����������� Tdp �� � ��
	���
 �� ��� ���
�������� γ ��

Tdp(γ) =
[

1
T0

− Rv

λ0
ln

(
Patmγ

ps,0(β + γ)

)]−1

$6�:'

�����
Patm = pv + pa $6�;'

γ = ����
��� ������ ��� Dkg/kgE
Tdp = ������������ 
�� ���
� D◦CE
T0 = ������
	� ������������ ��� DKE

pa = ������� ��������� ��� DhPaE
pv = ������� ���������  ���� DhPaE

ps,0 = ��������
 ������� �������� �� ������
	� ����������� DhPaE
Rv = ���	��	 ��� 	�
���
� DJ/kg KE

λ0 = ���� ��  �����!����
� ����� DJ/kgE
β = ������	 ���� ������ �����G
�� ��� D5E
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ζ(α) = pθα
θ + pθ−1α

θ−1 + · · · + p1α + p0 $6�<'
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�	��

��	�� ��	 ��
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�� � ���
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H = u + PV $6�5>'
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	� �� ��� ����������
� ������������ ��� ������ � �
���� �� �����
�� ���� ����������� �� !���� 1� �

�
� �
���� �� ��� ����� ��� ����������� ��
��� ����� ���	��� 5>>◦C� 0��� ��� ����� ����������� 	�
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� ��� �

�
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�� � �����!��
���
 �� ����� �
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 �
 #����� 6�;
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��� ������ � �
���
�� �
���� ��� � ��
��� �� � ���
  ����� �� �� �
 ��

E = mcpT $6�55'

= ρV cpT $6�56'

����� ��� ������
	� ����������� �� 	����
 �� ��� ����������
� ������������ ��
�������� ��� ��
���
�� ��� �
���� �� 	�
��
���
 ��� ���
�	�  ������

�.".�.� 	�
���� /�
���

��� �
���� 	�
���
�
 �
 ��� ���
�	� �� �� �
 ��

Ep = mpcppTp $6�57'
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�
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Ep = (mscps + mwcpw)Tp

= (mscps + msαcpw)Tp

= ms(cps + αcpw)Tp

= mshp $6�58'

����� hp �� �
��
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������ �� ��� ����
 �

 �� �� �
 ��

hp = (cps + αcpw)Tp $6�59'
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 ��

dEp

dt
= V

d

dt
(upρp) = [upApρpvp]in − [upApρpvp]out $6�5C'

= [upwp]in − [upwp]out $6�5:'

= [wpcppTp]in − [wpcppTp]out $6�5;'

����� up �� ��� ���
�	� �
���
�� �
����� Ap �� ��� ���
�	� 	�������	���
 �����
ρp �� ��� ���
�	� 
�
����� vp �� ��� ���������
 �

 wp �� ��� ���
�	� ���� H��
�� �
 �
 Dkg/sE� -��� ���� $6�57' ��� 
�	������
� ��� ����� �
 $6�5;' 	�
 ��

�	������
 �
��

wpcppTp = ws(cps + αcpw)Tp $6�5<'

���	� �� �����
�
 �� �����!�
� ��� 
��
����
 �� α �
 $6�5'� #�
���� ��� 	��
��
�� �
���� 	�
 �� �����
 ��

dEp

dt
= [ws(cps + αcpw)Tp]in − [ws(cps + αcpw)Tp]out $6�6>'

����� ws �� ��� ���� H�� �� ����
 Dkg/sE �� �
 ��

ws = ρsvpAp $6�65'

�.".�.� 0�� #�����
 /�
���
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���� �(�����
  ��� ������� �� ��� ���
�	� �
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�(�����
 $6�58'� ��� 
�� ��� ���	�� �	�� �� ������%����� ���� �� �		��
��

���� ��� �
���� �� ��� ��� ������� 	�
 �� ���������
 �� �������

Eg = (macpa + mvcpv)Tg + mvλ0 $6�66'
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Eg = (macpa + maγcpv)Tg + maγλ0

Eg = ma

[
(cpa + γcpv)Tg + γλ0

]
Eg = mahg $6�67'
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hg = (cpa + γcpv)Tg + γλ0 $6�68'
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���� $6�68' �� 
�� ��	����

�
 ��� � � ����
��� �� >�>9 D��G��E� "
 ��� 	���
���� ��� ����
��� ��	��
� ���� ������ ���
 ���� ��
���� �

 	������ �(�����
�
��� �� �� ���
�

#������ ��� �(�����
 
��	����
� 	��
�� �� �
���� �
 ��� ��� �� 
��
�
�
*������ �� $6�6>' ��� �(�����
 ��� � ���
  ����� �� ��� �� 
��� �
 ��

dEg

dt
=

[
wa[(cpa + γcpv)Tg + γλ0]

]
in

− [
wa[(cpa + γcpv)Tg + γλ0]

]
out

$6�69'

����� wa �� ��� ���� H�� �� ��� Dkg/sE �� �
 ��

wa = ρavgAg $6�6C'

5:
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 ������

5;



������� 


��
���� ��	���

���� 	������ 	�
���
� ��� ������ 
�	������ ��� 
����
�
� ��� 	�
 ���������

���� 	�
����� ��� ������ �� ��
���� �

 
��� 
�� ��	�� �
 ��� 	�
 ���������

���� 	�
����� @���� �
� �
 	������ C� ��� ������ ���� ���� 	������ �� ��� �

	�
���� ���� ��� 	�
���� �� 	�
 ��������� 
������

��� ���#�����!�

� &����� ��� ��
���� �
����
� ��� ���	���� "
���� 	�
 �� 
� �
�
 �
��
��� ������ ��
�������
  ��������$�A�' �

 
�������
	���

� '��������	
 �������	� ��� ����� ���	��� �
���� ���	� ��� ��
�������

�� ��� 	�
��������

� (���������	� ��� ����� ���	��� �
���� ���	� ��� 
�� ��
�������
 �� ���
	�
��������

� )������ ��� ��
���� �����
� ��� ���	����

� *���	�� �������	�$%A�' ���  �������� ����
�
� �
��
� ��� ���	����

� ��������	
 �������	�$&A�' ��� ����� %A� �

 ������� ���	� ��� 	�
�
������
 �

 �� � ��� ���
�� ����	����
 ���� ����� ����� ��� ������ ����
����
 �� ��������
�

� '	����	�	��� ��� �������
 %A� �

 �������� ����� ��� ������ ����
+�	��
 �� ���������
� 
����� �

 ��� ��������� 
� �� 	��������� �		��
�����

��
 $����� ���%����� �������


. ��
��� ������ �� ���
 �� �� ���������� �����	 �� ��� ��� ����� �� ��� ������
�� � � ���� ���� ���� ���
 �� �(��� �� !���� "� ��� ������ �� �
 
��	���� �����

5<
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���� ������

��� ����� �� ��� ������ ���� �� �����
 �� �� ��� �
�� �� ��� �
�� 
��	� "

������ 	���� ���� ������� �
� ���� ��� � ��� �
��� �
����� ����� x0� ����� ������ �
���

�
 �����
���

. ��
��� ������ �� ���
 �� �� �������������� �����	 �� ��� ��� ����� �� ���
������ �� � � ���� ���� ���� ���
 !���� "� ��� ������ �� �
 
��	���� ����� ���
����� �� ��� ������ ���� �� �����
 ��� �
�� 
��	� "
 ������ 	���� ��� ������ ���
���� ��� � ��� �
��� �
����� ����� x0 ����� ������ � ���

�
 �����
��� ���	�� �

�

����
� ������	��� !��� �� ���� �� �� �����
� �
�
����

"
 D&��<<E� &��
 
��
�� ��� 	�
	���� �� 	�
������������ �

 ����� �������
��M

� . ��
��� ������ �� ���
 �� �� �����������	 �� ��� �
� �
����� ����� x(0) = x0

�

 �
� �
�� ����� x1� ����� ������ �
 �
��� ���� ���
����� x0 �� x1 �
 �
�
��� ����� 3�������� ��� ������ �� ���
 �� �� �
	�
����������

� . ��
��� ������ �� ���
 �� �� ���	�����	� �� ��� �
� �
�
��
 �
����� �����
x(0)� ����� ����� � �
��� t1 > 0 ��	� ���� ��� �
����
�� �� ��� �
���
u �

 ��� ������ y � �� [0, t1] ���	�� �� 
������
� �
�(���� ��� �
�����
����� x(0)� 3�������� ��� ������ �� ���
 �� �� �
����� �����

#����������� ������ 
��
����
� ���
 ����� 
��
�
 ��� � ��� ���� ���
 �

���� ������M

� .
 �
	�
��������� ������ 	�
 �� �������%���	� �� �
 ���� ��� ��� �
	�
�
��������� ������ �
 ��� �����  �	��� x� ��� ���������	���� ������ �������
���� ���
� ���� ��� ������ �� 	�
��������� �� ���� 
�����M .�� 	�
�����
����� ������ 	�
 �� �� �
 �� ����� 
�����
 ��	����
� �
 �
��� ���� �


��� ������ ���� ��� �
	�
��������� ������	��� !��� �
 � �
��� �����

� .
 �
����� ���� ������ 	�
 �� 
	�	�����	� �� �
 ���� ��� ��� �
����� �
���� ������ �
 ��� �����  �	��� x� ��� ���������	���� ������ ������� ����
���
� ���� ��� ������ �� ����� ���� �� ���� 
�����M .�� �
����� ������
���	� ��� ����� ���� 	�
 �� 
������
�
 �
 �
��� ���� �

 ��� ������ ����
��� �
����� ���� ������	��� !��� �
 � �
��� �����

��� ����� ��#���&������

��
��
 	�
������� 
����
 �����
� ��	� �� H∞� @B/� �

 �%& ���
�	� 	�
�
�������� �� ��
�� �� ����� �(��� �� ���� �� ��� ���
�� ����� 	�
���� ���� ���
�� �� 	������ ���� �����
� �� ���	��	�� �������
�����
� �

 ������� ��
���
��� ���
 ������� ���� ��	���
 
��	����� � �����
 ��� ��
�	�
� ��� ��
�� �� �
���
� �� 	�
������� ��
��� ����� ��� ��
� 
�����
� �����
� ��� ���������
�
� ��
��� ��� �
 ���� ������ ��� ���� ������� ���� �����
�
 ���� ��� �����

������	
 �	��
����%������

6>



7�7 ��
�� *������	����


����� ��%����� ���%�)�����

+ ������	
 �	���%����� �� �� �������������� �����	 ������� �	���%����� �� �����
��	 ��������������� ��
 ���	��������� ,������� ��	 	���� ��
 
�������� D*%>9E�
. �����
��� ������ �

 ��
���� �����!����
 G(s) �� 	����
 ����
	�
 �� ��� �����
���
� �� ��� @����
� �(�����
�

AP + PAT + BBT = 0 $7�5'

AT Q + QA + CT C = 0 $7�6'

��� P = Q = diag(σ1, σ2, ..., σn) =
∑

����� σ1 ≥ σ2 ≥ .. ≥ σn > 0� P
�

 Q ��� ��� 	�
������������ �

 ����� ������� /�����
�� ��� σiO� ��� ���
��
���
 0�
��� ��
�����  ����� �� /$�'� "
 � ����
	�
 �����!����
 ���  ����
�� ��	� σi �� ����	����
 ���� � ����� xi �� ��� ����
	�
 ������� .

 ��� ��!�
�� σi �� � ������ � ������� �� ��� 	�
��������
 ���� xi ����� �� ��� �
����
������ ���� ��� �� ��� ������� ���� �������� �� ��

���
��� �� ��
� ��
��
��
�	���
 �����
�� ���	� ���� �� ���� �
� ������ �� �
� ������ ���	� �
 ���
������O� �
���������� ���� ����

����� �����
�%�)�����

@�� $.�1�&�2' �� � ��
���� �����!����
 �� � ������ ������ /$�'� �

 ������


��� �����  �	��� x� �� 
���
���
 
� �
��

[
x1

x2

]
����� x2 �� ���  �	��� �� n − k

������ ���	� �� ���� �� ���� �� ���� ����������� ������
�
� �� .�1 �

 &�
��� ���������	� �(�����
� ��	���

ẋ1 = A11x1 + A12x2 + B1u $7�7'

ẋ2 = A21x1 + A22x2 + B2u $7�8'

y = C1x1 + C2x2 + Du $7�9'

"
 ����
����!����
 x2 �� ���� �
 �� �����
� ẋ2 = 0� ���
 �� ��� �
� x2 �

����� �� x1 �

 u� $7�7'�$7�9' ��	����

ẋ1 = (A11 − A12A
−1
22 A21)x1 + (B1 − A12A

−1
22 B2)u $7�C'

y = C1 − C2A
−1
22 A21x1 + D − C2A

−1
22 B2u $7�:'

0��� A22 ���� �� �
 �������� #���������� �� 	�
 
��
� ��� ��
�	�
 ��
��
Gr(s) = (Ar, Br, Cr,Dr) ��

ẋr = Arxr + Bru $7�;'

y = Crxr + Dru $7�<'
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�����

Ar = (A11 − A12A
−1
22 A21) $7�5>'

Br = (B1 − A12A
−1
22 B2) $7�55'

Cr = C1 − C2A
−1
22 A21 $7�56'

Dr = D − C2A
−1
22 B2 $7�57'

.
 �������
� �������� �� ����
����!����
 �� ���� �� ������ �� ��� ����
�
����� ���
 �� ��� ������� Gr(0) = G(0)� ���� �� ��	���� ��� ����
����!����

���	��� ���� ��� 
��� ��� �� �� !���� ���	� �� ����
� ����� ��� !��� �
�����
��� ��
�	�
 ��
�� Gr(s) �� �		����� �� ��� ���(��
	���� �� ������ ���(��
	���
��� ����� �� Gr(s) 
����� ���� G(s) �

 �� �� ��������� ��	����

�
 �� ���
��	�
�(��� �� ���
	����
 ��� ���� ���(��
	� ��
���
�� ���� 
������ �����
���
	����
 �

 ����
����!����
 	�
 �� ���

 �
 D*%>9E�

����� ��%����� �����
�%�)�����

1���
	�
 ����
����!����
 �� �����
�
 �� �

�
� � ����
	�
 �����!����
 �� /$�'�
���
 �� ���
� ����
����!����
 �
 ��� ����
	�
 �(�����
� � ��
�	�
 ��
�� ��
�����
�
 ����� ��� ������ �� �
� ������ ���	� �
 ��� �
���G������ ���� ���
��� ���� �
� . ���� 
������
 ������	� �� ������
�
 �
 ��� ��������� �����M

5� 3����
 Gbal(s)� �

 g �� ����
	�
� G(s) ����� g = [σ1, σ2, ..., σn]T �

6� #�

 � ������
	� ���� 
�	�
�� ���	� ������ �����
 �� ���� �
 ���� ���
����
	�
 ��
���

7� ? ��� ����� ����
��
� �� ��� �����
� �
 g ���	� �� ����� ���� ������
	�
�����
 �� � ���� �� ��� x2  �	��� �� ������ 
��
�
 �
 $7�8'

8� 1�	���� $7�7'�$7�9' �� ����
	�
 �

 x1 �

 x2 �� �
��
� ��� ��
�	�

��
�� �� �� �
 �� �(�����
� $7�;'�$7�57'

��� ����� ���������� �������

��
�� ���
�	�� � 	�
���� $�%&' 	�
 �		��
� ��� 	�
�����
�� �
 ��� �
����
������ �

 ���	��� ������� ����� 	�
�����
�� ��� ���� ����� �������
����
������ ������!�
� ��� ����������� ��
���!�
� ��� �
��� �� �� 	����
����
� ��
������ ��� 	�
������� ���� ���������	�� ���������
� ��� ������!�
� ���
�	��

������ ��������
	� �

 ��

��� 	�
�����
�� �
 �
���� �� ���� �� ������ �


��������

��� ���� 	����
 ���� �� �%& �� ��� ���	�� '*�� ���	� ���� ��
���
���	��� ��
��� ��� ���
�	���
 �

 	�
 �� (��
����	 ���������
� $B%' ���
������!����
 �� � (��
����	 ��+�	�� � ��
	���
� ��� ��+�	�� � ��
	���
 �� �
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7�8 ��
�� %��
�	�� � &�
����

(��
����	 �������
� �� ������ ��
�������
  �������� �

 ��� ���
�� ������� .��
������ ��� ���� �%& �����	����
� ������!�
 ��������
	� �
 � �
��� ����!�
�
�� �� +��� �� ���� �� ������!� ��������
	� �
 ��� �
�
��� ����!�
�

����� +��
��
�� ������

.�� ��
�� ���
�	�� � 	�
�������� �� � 
�����
� 	�
��������
�� ��� 	�
�������
���
 �
 ���� ������� ������!�� � �� ��� ��"���	 ����%��� ����� �� ���� ��� ��
�
��� (��
����	 ��������� $@B=' ����� ��� �
��� ����!�
� ���� �� ������
 ��
������
� ���� ��� 	�
�������� �� ��� �

 �� ��� �
��� ����!�
� ��� ������
 ���
���
� �� � �����
 �
 ���	� ��� 	�
�����
�� ��� ����� �� ��� �
�
��� ����!�

������!����
 �� �	������ � �
��� ����!�
 ������!����
� ����� ��� ������ �
 ���
�����
�� O�����O Q̄ �� 	��	�����
 �
 ��	� � ��� ���� �� 	�
�������� ��� ����
�� ��� ��+�	�� � ��
	���
� �� ����
 �� � ���
 �����
�
 ���� � @B= ���� ���
�
��������!�
 �� �
�
����

#������� �
 ��
�� �� �
���� ���� ��� 	�
������� �

� � �������� �������

�����
 ��� 	�
�����
��� � �	�	�	��	 ����	� �� 	��	�����
� #�� �������� 
�� ��

�������
	��� ��� ���
� 	�
 �� �����
 �
�� � �����
 �
 ���	� ��� 
�����
  ����
	�

�� �� ���	��
 �������  ������
� ��� 	�
�����
��� ���
 �� 	��	�����
�
��� 	������ ���
� ��� 	�
������� 	�
 �	��� � ������� 	�
�����
  �������
� ���
������� ������ ��� ��� ��������
 �� 	��	�����
�

"
 ��
�� ��� ��� 	�
������� �� 	��	����� ��� ������� �
��� ��(��
	�� ���
������ �� ��� ���
� ���� �� �
��
� � �
 ��� �
�������
 �
��� ���� �� �
��
�������� �� ��������
� ����� ���	� ���
�� �� 	�������� 
	����� 4��� �� ������
�
� � )����
 ������ ������� ��������� ��� ��� ���
� �� �����
�
 �� 	����	��
�
��� ��
�� ���� �
��
� ���������
�� ���� ��� ���
�� ��� ��
�� ��
��� ���
�� �������
� �
 ��
�� �� �������� ��� ���	�� �� 
�������
	�� �

 ��
���
�
�������� ����
� ��� ��
�� 
� ���� ���� ��� ���
��

��� �%& ��������� �����
 �� 	���������
���� ��	��
� �

 ��� 	�������
���
�� ��(������
�� �����
 �� ��������	 ��� � ���� �������
�����
� ����������
��� �%& ��������� 
��� 
�� ��� ��� 
�
��
��� ��
�� ��� ������!�
�, �
����

�� ���� � ��
��� ��
�� ��
�	�
 �� ������	
 �	��
����%������ "
 �

����
 �� �����
��� ��������� �� �
�� ������!�
� ���� ������ �
���� �� ������!����
  ���������
&�����
� ������ �
���� �� ������!����
  �������� 
�	������ ��� 
����� �� ���
����!����
  �������� 
�����	����� 
���

�
� �
 ��� ��
� ������ ��� ��
�	�

��
�� 	�
����� ���

��� ����	���� �� ��� �%& �� ����������
 �
 #����� 7�5� "� 	�
 �� ���

���� �� �������
� ��� �
���� �

 �������� ��� ��������� ������ ��� ������
	��	������
 ���� ��� ��������
 
�������
	��� ��� ���
 ������!�
� �����
� ��
�������
 ���� ��� 
�����
 ���+�	������ �

 ��
�� ����������

�����	
�� �

�
� ��� �����
��� ����� ��� ���
����� ��� ���� ��� �
���
������ ���	��
��� ��� ���
����
 ��� ���
���
� ���������� ��
 ����	
�� �

�
� �� �����
�� �
�
��
�	 �
��
��
������ �����
�� ��� �	����
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Process

Estimator
u

yd

x

Target calculation

xrefd

yref

Optimizer

u

xref

x

d yu

Model predictive controller

urefuref

#����� 7�5M "����������
 �� ��� �%& ����	����

����� ��� �
� ,
 -���
%�����

��� ���	��� ���	� �� �� �� 	�
������
 �� 
��	����
 �� ��� 
��	���� ����� ���	�
��
��

xk+1 = Axk + Buk + Bddk $7�58'

yk = Cxk + Duk + Ed $7�59'

��� ��+�	�� � �� ��
� �� �����
 �� 	�
����� �� �� ������!� ��������
	� ��
��
���!�
� ��� 	��� ��
	���


Vk =
∞∑
i=1

||ŷk+i|k − tk+i|k||2Q +
Hu−1∑
i=0

||ûk+i|k − t̃k+i|k||2R $7�5C'

����� ��� 
��� �� 
��
�
 ��

||Z||2M = ZTMZ $7�5:'

��� �����	�� B �

 = ��� ��
�
� ���������� ���	� ���� ������ ��� 	�

����
�

Q ≥ 0 $7�5;'

R > 0 $7�5<'

�
 ��
�� ��� ��� B% ������� �� �� 	�
 ���

"
 ���� �%& �����	����
� ����� ��� 	�
�����
�� ���	� ��� 
�� �� ��  ��
�����
 $�

 �� ����� ��� 
� 	�
�����
��� ����� �� �������� ������ �����
 �� ���
�%& �
 ��� ���� ���	�'� ����� 	�
�����
�� 	�
 �� �
 ��� ������� ��� �
���� ��
��� �������� "
 ���� ������ ��� 	�
�����
�� ��� �
 ��� �
���� �

 ������� $���
������ ��� �

���	��� ���	��
 �����'M
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Yl ≤ yk ≤ Yu $7�6>'

Ul ≤ uk ≤ Uu $7�65'

��� ������!����
 	������� 	�
 
�� �� �������!�
 ��

min Vk $7�66'

s.t

xk+1 = Axk + Buk + Bddk $7�67'

yk = Cxk + Duk + Ed $7�68'

Yl ≤yk ≤ Yu 1 ≤ k ≤ Hu − 1 $7�69'

Ul ≤uk ≤ Uu 0 ≤ k ≤ Hu − 1 $7�6C'

���� ������!����
 	�������
 	�
 �� �������� ������
�
 ���� ���
�M

��
 
�1
����
 �� �� ��
���!� ��� 
����
	� ������
 ��� ����������+�	����
�

 ������ ����� ��
���!�
� ��� ��� �� ��� �
���� �������  ������
� ��� 	�
�
�����
�� ������
 �� �����	�� ���	��� ���������
� �� ���� ���	��	 
��
�� 1� 
��
�
� ���� ��
���!����
� ��� 	�
������� �� ���
�	��
� ��� ������� �
��� ��(��
	�
�� ���
� ��� ��
�� �(�����
� $7�58' �

 $7�59'�

����� .������ ����)��

�� �
���� ��������� �
 �
�
��� ���
�	���
 ����!�
 �� 	����
� "� ��� ��+�	�� �
��
	���
 $7�5C' ��
 � �
��� ����!�
� ���
 ��� 	�
������� ����
 �� � 
� �
����
�
�� �� ��� ���	��� ����� ���� ���� k = Hu� �

 ��� ���	��� ������ 	���

������	� �
�
����

.� ����� ��� ��+�	�� � ��
	���
 �����
 �
 $7�5C' �� ����� �
��

Vk =
Hu−1∑
i=1

||ŷk+i|k − tk+i|k||2Q +
Hu−1∑
i=0

||ûk+i|k − t̃k+i|k||2R

+
∞∑

i=Hu

||ŷk+i|k − tk+i|k||2Q
$7�6:'

��� 
�����
 ������ �� �� �
 ��

tk+i|k = Ct̄k+i|k + Dt̃k+i|k + Ed∞|k $7�6;'
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�����

tk+i|k = ���+�	���� ��� yk+1 $7�6<'

t̄k+i|k = ���+�	���� ��� xk+1 $7�7>'

t̃k+i|k = ���+�	���� ��� uk+1 $7�75'

��� ��� ����
� ����� ������� ��� ��� �
�
��� ����!�
� �

 d∞|k �� ��� ��������


�������
	� �� �������� k� ���	� �� ������
 	�
���
� ��� ��� t ≥ k� 1� ����
�������
� $7�59' �

 $7�6;' �
�� ��� �
�� ��� �
 $7�6:'� ��� ��� 	�
 �� �����

��

∞∑
i=Hu

||ŷk+i|k − tk+i|k||2Q =
∞∑

i=Hu

||C(xk+i|k − t̄k+i|k)

+D(uk+i|k − t̃k+i|k) + E(dk+i|k − d∞|k)||2Q
$7�76'

���
� �� ������
� ���� ��� 	�
�����
�� ��� �����	��
 ����� ��� 	�
���� �����
!�
 Hu� � �������!�
� 	�
�������� uk = K(t̄k − xk) ��� i ≥ Hu �� ���
� #�������
����� �� ������
� ���� ��� 
�������
	�� dk ��� 	�
���
� �

 ���� ��� �
����
������� ����� 
�����
 ������� $���	� �� ��� 	��� ��
	� ��� 	�
�����
�� ��� �����

����� ���

�'� ���
 ��� ��� $7�76' �� ��������
 ��

∞∑
i=Hu

||ŷk+i|k − tk+i|k||2Q =
∞∑

i=Hu

||C(xk+i|k − t̄k+i|k)||2Q $7�77'

#������ ��� ����� �(�����
 $7�58' 	�
 �� �����
 ��

xk+1 = [A − BK]xk + BKt̄k + Bddk $7�78'

����� ��� 
�����
 ������ �� �� �
 ��

t̄k+1 = [A − BK]t̄k + BKt̄k + Bdd∞|k $7�79'

��� ������ ������ 	�
 
�� �� ��������
 ��

xk+Hu+1|k − t̄k+Hu+1|k =[A − BK](xk+Hu|k − t̄k+Hu|k)

xk+Hu+2|k − t̄k+Hu+2|k =[A − BK]2(xk+Hu|k − t̄k+Hu|k)
���

xk+Hu+j|k − t̄k+Hu+j|k =[A − BK]j(xk+Hu|k − t̄k+Hu|k)

���� ����
	
�
�� ����
�		�
 ���� 
� ��
� ����
�� 
� ��� 	
���
 ����
��
� 
���	��
 � !"��
���
���� �
�� ��� ���� ���
�� ���

��� �� ��� �#$
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���	� ���� 	�
 ���� �� !��� �� �
 ���� D.�1)E ��� ��� ����
 ����� �����
 ���
�
�� 
��	� ��� ��� $7�77' �� ������ ��������
 ��

∞∑
i=Hu

||ŷk+i|k − tk+i|k||2Q =(xk+Hu|k − t̄k+Hu|k)T Q̄(xk+Hu|k − t̄k+Hu|k) $7�7C'

�����

Q̄ =

[ ∞∑
i=0

([A − BK]T )iCTQC[A − BK]i
]

$7�7:'

.		��
�
� �� D��	>6E� �� �
 ���� Q ≥ 0 � �

 ���� D.�1)E ��� ��� ��� ����
�
 ����� �
���
� ��� �
�� 
��	� ��� @����
� �(�����


[A − BK]T Q̄[A − BK] =
∞∑
i=1

([A − BK]T )iCTQC[A − BK]i $7�7;'

= Q̄ − CT QC $7�7<'

	�
 �� ��� �
 ��� Q̄�

����� -
�
�� .�!
�� �� /!����)����� (����	%��

"� �� ���� ����
 ��� ��� ������!����
 	������� 	�
 �� ��������
 ���� ������
�
���� �� ������!����
  ��������� #���� �� �� ����
 ��� �� ���������� ��� ������
������ �
�� ��� ��+�	�� � ��
	���
� ���
 �
�� ��� 	�
�����
�� �(�����
��

�.".".� '������� ��
 �����
 ��%���

1� 
��
�
� ��� �
��� vk = uk − t̃k �

 ����� χk = xk − t̄k 
� �����
�� �

 ��
���	��
� ��� ����� ������
	�� t̄k� �
��� ������
	�� t̃k� �
��� 
� �����
� vk� �����

� �����
� χk� �

 ���
�	��
 
�������
	�� dk �
  �	���� t̄� t̃� v� χ� dM

t̃ =

⎡
⎢⎢⎢⎢⎢⎣

t̃0
t̃1
���

t̃Hu−2

t̃Hu−1

⎤
⎥⎥⎥⎥⎥⎦ ; t̄ =

⎡
⎢⎢⎢⎢⎢⎣

t̄1
t̄2
���

t̄Hu−1

t̄Hu

⎤
⎥⎥⎥⎥⎥⎦ $7�8>'

v =

⎡
⎢⎢⎢⎢⎢⎣

v0

v1
���

vHu−2

vHu−1

⎤
⎥⎥⎥⎥⎥⎦ ; χ =

⎡
⎢⎢⎢⎢⎢⎣

χ1

χ2
���

χHu−1

χHu

⎤
⎥⎥⎥⎥⎥⎦ ; d =

⎡
⎢⎢⎢⎢⎢⎣

d0

d1
���

dHu−2

dHu−1

⎤
⎥⎥⎥⎥⎥⎦ $7�85'

6:
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��� ������ ����� ������ 	�
 �� ��������
 ��

χ + t̄ =

⎡
⎢⎢⎢⎢⎢⎣

A
A2

���
AHu−1

AHu

⎤
⎥⎥⎥⎥⎥⎦ x0 +

⎡
⎢⎢⎢⎢⎢⎢⎣

B 0 · · · 0 0

AB B
� � �

���
���

���
���

� � � 0 0
AHu−2B AHu−3B · · · B 0
AHu−1B AHu−2B · · · AB B

⎤
⎥⎥⎥⎥⎥⎥⎦ (v + t̃) $7�86'

+

⎡
⎢⎢⎢⎢⎢⎢⎣

Bd 0 · · · 0 0

ABd Bd
� � �

���
���

���
���

� � � 0 0
AHu−2Bd AHu−3Bd · · · Bd 0
AHu−1Bd AHu−2Bd · · · ABd Bd

⎤
⎥⎥⎥⎥⎥⎥⎦ d $7�87'

= Ψx0 + Θ(v + t̃) + Ξd $7�88'

⇓
χ = Ψx0 + Θ(v + t̃) + Ξd − t̄ $7�89'

�.".".� ��
 
�1
����
 ������
�

��� ���� ��� ����� �
 ��� ��+�	�� � ��
	���
 $7�6:' 	�
 
�� �� �����
 ��

Hu−1∑
i=1

||ŷk+i|k − tk+i|k||2Q +
Hu−1∑
i=0

||vk+i|k||2R $7�8C'

���
 �� �����������
 �� ��� ���������
� $7�59' �

 ������ $7�6;' �(�����
�
��� ����� �� ��������
 ��
Hu−1∑
i=1

||Cχk+i|k + Dvk+i|k||2Q +
Hu−1∑
i=0

||vk+i|k||2R $7�8:'

=
Hu−1∑
i=1

[
χT

k+i|kC
TQCχk+i|k + vT

k+i|kD
T QDvk+i|k + 2χT

k+i|kC
TQDvk+i|k

]
$7�8;'

+
Hu−1∑
i=0

vT
k+i|kRvk+i|k

=
Hu−1∑
i=1

[
χT

k+i|kC
TQCχk+i|k + vT

k+i|k[D
T QD + R]vk+i|k + 2χT

k+i|kC
TQDvk+i|k

]
$7�8<'

+ vT
0 Rv0

=
Hu−1∑
i=1

[
χT

k+i|kQ̃χk+i|k + vT
k+i|kR̃vk+i|k + χT

k+i|kG̃vk+i|k
]

+ vT
0 Rv0 $7�9>'

6;



7�8 ��
�� %��
�	�� � &�
����

�����

Q̃ = CTQC; R̃ = DT QD + R G̃ = 2CT QD $7�95'

4��� �� �
���
�	�
� ��� �����	��

Q̂ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

Q̃ 0 · · · 0 0

0 Q̃
� � �

���
���

0 0
� � � 0 0

���
���

� � � Q̃ 0
0 0 · · · 0 Q̄

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

; R̂ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

R 0 · · · 0 0

0 R̃
� � �

���
���

0 0
� � � 0 0

���
���

� � � R̃ 0
0 0 · · · 0 R̃

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

$7�96'

G =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

G̃ 0 · · · 0 0

0 G̃
� � �

���
���

0 0
� � � 0 0

���
���

� � � G̃ 0
0 0 · · · 0 G̃

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

$7�97'

�

 �� ���
� $7�7C' �

 $7�9>' ��� ��+�	�� � ��
	���
 ��� ��� �
�
��� ����!�

$7�6:' 	�
 �� �����
 ��

V = χT Q̂χ + vT R̂v + χ′T Gv′ $7�98'

�����

χ′ =

⎡
⎢⎢⎢⎢⎢⎣

χ1

χ2
���

χHu−2

χHu−1

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

I 0 · · · 0 0 0

0 I
� � �

���
���

���

0 0
� � � 0 0 0

���
���

� � � I 0 0
0 0 · · · 0 I 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

χ = Iχχ; $7�99'

v′ =

⎡
⎢⎢⎢⎢⎢⎣

v1

v2
���

vHu−2

vHu−1

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

0 I 0 · · · 0 0

0 0 I
� � �

���
���

0 0 0
� � � 0 0

���
���

���
� � � I 0

0 0 0 · · · 0 I

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

v = Ivv, $7�9C'

#�
���� �� ����������
� $7�89'� $7�99' �

 $7�9C' �
�� $7�98'� �

 �� ���
�� �
� ��� ����� ���	� 
��� 
�� ���	� ��� �������
� ��� ��+�	�� � ��
	���

��	����

V = vT Hv + fv $7�9:'

6<
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�����
H = H1 + H2 + R̂ f = f1 + f2 $7�9;'

H1 = ΘT Q̂Θ f1 = 2
[
Ψx0 + Θt̃ + Ξd − t̄

]T
Q̂Θ $7�9<'

H2 = ΘT IT
χ ĜIv f2 =

[
Ψx0 + Θt̃ + Ξd − t̄

]T
IT
χ ĜIv $7�C>'

�.".".�  
���������

1� �
���
�	�
� ���  �	����

Ŷl =

⎡
⎢⎣Yl
���
Yl

⎤
⎥⎦ ; Ŷu =

⎡
⎢⎣Yu

���
Yu

⎤
⎥⎦ ; Ûl =

⎡
⎢⎣Ul
���

Ul

⎤
⎥⎦ ; Ûu =

⎡
⎢⎣Uu

���
Uu

⎤
⎥⎦ , $7�C5'

��� 	�
�����
�� � �� ��� ����!�
 	�
 �� �����
 ��

Ŷl ≤ y ≤ Ŷu $7�C6'

Ûl ≤ u ≤ Ûu $7�C7'

��� ������ ������� ��� �� �
 ��

y =

⎡
⎢⎢⎢⎣

y1

y2
���

yHu−1

⎤
⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎣
C 0 · · · 0
0 C · · · 0
���

���
� � �

���
0 0 · · · C

⎤
⎥⎥⎥⎦

︸ ︷︷ ︸
Ĉ

⎡
⎢⎢⎢⎣

x1

x2
���

xHu−1

⎤
⎥⎥⎥⎦ $7�C8'

+

⎡
⎢⎢⎢⎣

D 0 · · · 0
0 D · · · 0
���

���
� � �

���
0 0 · · · D

⎤
⎥⎥⎥⎦

︸ ︷︷ ︸
D̂

⎡
⎢⎢⎢⎣

u1

u2
���

uHu−1

⎤
⎥⎥⎥⎦ $7�C9'

+

⎡
⎢⎢⎢⎣

E 0 · · · 0
0 E · · · 0
���

���
� � �

���
0 0 · · · E

⎤
⎥⎥⎥⎦

︸ ︷︷ ︸
Ê

⎡
⎢⎢⎢⎣

d1

d2
���

dHu−1

⎤
⎥⎥⎥⎦ $7�CC'

�

 �� ������ ��
��������
 �� ��� x�u �

 d  �	����� ��� ������ ������� 	�

�� �����
 ��

y = Ĉx′ + D̂u′ + Êd′ $7�C:'

= ĈIxx + D̂Iuu + ÊIdd $7�C;'

= ĈIx(χ + t̄) + D̂Iu(v + t̃) + ÊIdd $7�C<'

7>
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����

����� Ix = Iχ� Iu = Iv� ��� 
��
�
 �� �(�����
� $7�99' �

 $7�9C'� �����	�
�� ���� Id �� �� �
 ��

d′ =

⎡
⎢⎢⎢⎢⎢⎣

d1

d2
���

dHu−2

dHu−1

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

0 I 0 · · · 0 0

0 0 I
� � �

���
���

0 0 0
� � � 0 0

���
���

���
� � � I 0

0 0 0 · · · 0 I

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

d = Idd, $7�:>'

#���������� �����������
 �� $7�89' ��� χ �� ��

y = ĈIx

[
Ψx0 + Θ(v + t̃) + Ξd

]
+ D̂Iu(v + t̃) + ÊIdd $7�:5'

= ĈIxΨx0 + [ĈIxΘ + D̂Iu]v + [ĈIxΘ + D̂Iu]t̃ + [ĈIxΞ + ÊId]d $7�:6'

�

 ��� 	�
�����
�� � �� ��� ����!�
 ��� ��� ������ 	�
 
�� �� �����
 ��[
ĈIxΘ + D̂Iu

−ĈIxΘ − D̂Iu

]
v ≤

[
Ŷu − ĈIxΨx0 − [ĈIxΘ + D̂Iu]t̃ − [ĈIxΞ + ÊId]d
−Ŷl + ĈIxΨx0 + [ĈIxΘ + D̂Iu]t̃ + [ĈIxΞ + ÊId]d

]
$7�:7'

��� 	�
����
�� � �� ��� ����!�
 ��� ��� �
���� ��� �������� �������� �


	�
 �� �����
 �� [

I
−I

]
v ≤

[
Ûu − t̃

−Ûl + t̃

]
$7�:8'

#�
���� �� 	����
�
� $7�:7' �

 $7�:8' ��� 	�
�����
�� � �� ��� ����!�

��	����⎡
⎢⎢⎣

ĈIxΘ + D̂Iu

−ĈIxΘ − D̂Iu

I
−I

⎤
⎥⎥⎦ v ≤

⎡
⎢⎢⎢⎣

Ŷu − ĈIxΨx0 − [ĈIxΘ + D̂Iu]t̃ − [ĈIxΞ + ÊId]d
−Ŷl + ĈIxΨx0 + [ĈIxΘ + D̂Iu]t̃ + [ĈIxΞ + ÊId]d

Ûu − t̃

−Ûl + t̃

⎤
⎥⎥⎥⎦

$7�:9'

⇓
Ω′v ≤ ω′ $7�:C'

�."."." ��������� �
��������� �� ��
 �����
 
� &
����
&
���

"
 ���� 	����� �� �� 
�������� ���� ��� 	��
�� �� ���������
� ���� �
� ����
���� �� ��� 
��� �� ����� ���� �� ��� "
 ����� ���
�� ����� ��� 	�
�����
�� �

��� 	��
�� �� ���������
�� � �� ��� ����!�
�

/� �
 �  �	��� �� ����	��
 ���������
�� ye,k � 
��
�
 ��

ye,k = Cexk + Deuk + Eedk $7�::'
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���� ������

����� Ce� De �

 Ee 	�
����� �� ����	��
 ���� �
 ��� �����	�� C� D �

 E
���� $7�59'�

��� 	�
�����
� � �� ��� ����!�
 	�
 �� ���������
 ��

−Δye ≤ ye,k+1 − ye,k ≤ Δy 0 ≤ k ≤ Hu − 1 $7�:;'

����� Δy �� �  �	��� 
��
�
� ��� ������� 	��
�� ���� �
� ���� ���� �� ���

����

#������� �� ���	��
� ��� ���������
�� � �� ��� ����!�
 �
 �  �	���

ye =

⎡
⎢⎢⎢⎣

ye,0

ye,1
���

ye,Hu−1

⎤
⎥⎥⎥⎦ $7�:<'

��� 	�
�����
� � �� ��� ����!�
 	�
 �� �����
 ��

Λye ≤ ΔY $7�;>'

�����

Λ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−I I 0 · · · 0 0
I −I 0 · · · 0 0
0 −I I · · · 0 0
0 I −I · · · 0 0
���

���
� � �

� � �
���

���
0 0 · · · · · · −I I
0 0 · · · · · · I −I

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

ΔY =

⎡
⎢⎢⎢⎣
Δy
Δy
���

Δy

⎤
⎥⎥⎥⎦ $7�;5'

#�
����� ��� 	�
�����
�� �
 ��� 	��
�� �� ���������
�� $7�;>' 	�
 �� �
	��
�

�
 ��� ������!����
 �������� ��� 	�
�����
��

Yl ≤yk ≤ Yu 1 ≤ k ≤ Hu − 1 $7�;6'

Ul ≤uk ≤ Uu 0 ≤ k ≤ Hu − 1 $7�;7'

−Δye ≤ ye,k+1 − ye,k ≤ Δy 0 ≤ k ≤ Hu − 1 $7�;8'

	�
 �� �����
� ��������� �� $7�:C'� ��

Ωv ≤ ω $7�;9'
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����� Ω �

 ω �� �� �
 ��

Ω =

⎡
⎢⎢⎢⎢⎣

ĈIxΘ + D̂Iu

−ĈIxΘ − D̂Iu

Λ
[
ĈeIxΘ + D̂eIu

]
I
−I

⎤
⎥⎥⎥⎥⎦ $7�;C'

ω =

⎡
⎢⎢⎢⎢⎢⎢⎣

Ŷu − ĈIxΨx0 − [ĈIxΘ + D̂Iu]t̃ − [ĈIxΞ + ÊId]d
−Ŷl + ĈIxΨx0 + [ĈIxΘ + D̂Iu]t̃ + [ĈIxΞ + ÊId]d

ΔY − Λ
[
ĈeIxΨx0 + [ĈeIxΘ + D̂eIu]t̃ + [ĈeIxΞ + ÊeId]d

]
Ûu − t̃

−Ûl + t̃

⎤
⎥⎥⎥⎥⎥⎥⎦ $7�;:'

���� ��� �����	�� Ĉe�D̂e �

 Êe �� �� �
 �� ���
� Ce� De �

 Ee �
����
 ��
C� D �

 E �
 ��� �����	�� Ĉ�D̂ �

 Ê 
��
�
 �� $7�C8'� $7�C9' �

 $7�CC'�
�����	�� ����

����" +�'������ ��� �����������

"� 	�
 �����
 ���� 
�������
	�� ���� ��� ������ �����
� ��� �������� �����
� �


�� ������� ���� ��� �%& B% ������� ��� 
� �������� �������
� "� �� ���������
����
���� ���� � ���	��	�� �������
�����
 �� � � �������� ��� 
����
� ����
��� ����������� �� �
������������ ����� ������ �� ���� �����
� ��� 
����
� ����
�
������������ �

 �
 ���� ������� ��� �
����������� �� 
���� ���� �� �����
�
� ���
	�
�����
���

4������� �
��� 	�
�����
�� ��� 
�� �����
�
� ��	���� ����� ��� ����
 ���

	�
�����
�� ������
 �� �����	�� ���������
� �
 ��� �	������� ��	� ���	� ���
�
���� ����� �� 
� ��� �� ��	��
�
� �����

. ��������������
 ��� �� �����
�
� ��� 	�
�����
�� �� �� ��� ���	�  ���������
"
 D��	>6E� �� �� ��������
 �� ��� � �	���� ���	�  �������� ���	� �� �� �
 ��
�����
� ��	� ������ ��������� 	������
 �� ����� ���	�  ������� �����
�� ��� ���
��
�� �� ��� ���� �� �������� �
 ���  ������ 	�
�����
��� ��� �	���� ���	�  �������
�� �

�
 �� ��� 	�
�����
�� �
 $7�;9' �

 ��+�	�� � ��
	���
 $7�9:' �

 �������
�
 ��� ��������!����
 �������M

min vT Hv + fv + ρε $7�;;'

s.t $7�;<'

Ωv ≤ ω + ε1110 $7�<>'

ε ≥ 0 $7�<5'

����� ρ �� � ������ � �	����  ������� ���
 �� �� ����� ��
��� ��� 	�
�����
  ��
������
� .� �� �� �����
 �
 D��	>6EM "� 	�
 �� ����
 ����� 	�����
� ρ �����
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�
����� �� �� �
 O���	� ��
����O �����
� ���	� ���
� ���� 	�
�����
�  �����
���
� ���� 
�� �		�� �
���� ����� �� 
� �������� �������
 �� ��� �����
�� O���
O
�������� 1110 �� �� �
 ��

1110 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

1
���
1
0
���
0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

$7�<6'

����� ����� ��� dim(y)×3 �
��� �

 dim(u)×2 !����� ���� ������ 	�
�����
�
�����
�
� �
�� �
 ��� ���������
��� #������ �� ���	��
� ��� ������!����

 �������� �
�� ���  �	���

z =
[
v
ε

]
$7�<7'

��� ������!����
 ������� 	�
 �� �����
 ��

min zT Ĥz + f̂z $7�<8'

s.t

Ω̂z ≤ ω̂ $7�<9'

�����

Ĥ =
[
H 0
0 0

]
f̂ =

[
f ρ

]
$7�<C'

Ω̂ =
[
Ω −1110

0 −1

]
ω̂ =

[
ω
0

]
$7�<:'

����0 ������ ��%�
%�����

.	��� �
� ��� 
�����
  ����� ��� ��� &A� ��� �� ���������� 
�� �� 	�
�����
��
�� �
� ��� ���� �� ���� ��� �
���� 	���� �� ���	��	  ������ 2�����
� �����
�
����� ��� �

�
� ������� 	���� �� ��� 
�����
  ����� ����� ���
���
�
� � ��������
�������
� 2���	� �� ����
� �
 ���� �� ��� ������ �����	�� 	�
 �� ����������
�� ��� ���
 �� ���� �������
�� ��������� ��� ������ 	��	������
 �
 ���� ������
�� ��������
 �� ��� �
� ��� �������
� ������!����
 �������M

min
xref,∞,uref,∞

(yd − yref,∞)T Q(yd − yref,∞)

+(ud − uref,∞)T W (ud − uref,∞)

$7�<;'
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s.t xref,∞ = Axref,∞ + Buref,∞ + Bdd∞ $7�<<'

yref,∞ = Cxref,∞ + Duref,∞ + Ddd∞ $7�5>>'

Ul ≤ uref,∞ ≤ Uu $7�5>5'

Yl ≤ yref,∞ ≤ Yu $7�5>6'

#������ �� ����������
� $7�5>>' �
�� ��� ��+�	�� � ��
	���
 �

 �� �����
� ���

�����
 �
��� ud = 0� ��� ������!����
 ������� ��	����

min
xref,∞,uref,∞

(yd − Cxref,∞ − Duref,∞ − Ddd∞)T Q(yd − Cxref,∞ − Duref,∞ − Ddd∞)

+uT
ref,∞Wuref,∞

$7�5>7'

s.t
[
I − A −B

] [
xref,∞
uref,∞

]
= Bdd∞ $7�5>8'[

I
−I

]
uref,∞ ≤

[
Uu

−Ul

]
$7�5>9'

���
 �� ����	����
�

xxx =
[
xref,∞
uref,∞

]
$7�5>C'

�

 �
���� �� ���� �
� ��� ����� ���	� 
��� 
�� ���	� ��� �������
� ��� B%
������� 	�
 �� ���������
 ��

min
xxx

xxxtHxxx + fxxx $7�5>:'

s.t Aeqxxx = Beq $7�5>;'

Aineqxxx ≤ Bineq $7�5><'

�����

H =
[
C D

]T
Q

[
C D

]
+

[
0 I

]T
W

[
0 I

]
$7�55>'

f = −2yT
d Q

[
C D

]
+ 2dT

∞DT
d Q

[
C D

]
$7�555'

Aeq =
[
I − A B

]
Beq = Bdd∞ $7�556'

Aineq =

⎡
⎢⎢⎣

C D
−C −D
0 I
0 −I

⎤
⎥⎥⎦ Bineq =

⎡
⎢⎢⎣

Yu − Ed∞
−Yl + Ed∞

Uu

−Ul

⎤
⎥⎥⎦ $7�557'
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7 &�
���� ������

. ������ � 
��
��� = ���� �
 ��
���� ������ �
 ����� �
 ��� &A� � �
 ���

��� 
�����
  ����� 	�
 �� �	��� �
� .		��
�
� �� )�=� ����� �
 D���<:E ���
������ = �����
 ��������� �� 	����
 ������ � ���� 
��
���� #������� ���
��
���

 ���� R = 0 	�
 �� 	����
 �� �
 ���� Q �� ������ � 
��
���� ��� �����
���	� �� � ��
���� �����!����
 �� � 
��	���� ���
���� ��
	���
 ������ ���� �
���� ��
� ����
������� ���
 ������� 
� �
�������
� ��
��� �

 ����� �� �� �����
�� ��
� ���������
�� �� �
����� #����������� �� ��� ������ Q �� ������ �
���� 
��
���� ����� �����
 �� �� ��
� �������
 �
���� �� ����� ��� 
������ ��
����
�� �
 ��
�� �� �
���� ������ 	�
�����

����1 #�������� ������

. ��
�� ��
��� ��� ���� �� ���
 �
 ��
�� �� �������� ��� ���� ��� �� ���
���	���� ? �
 �
 ��� �������� �
��� 	��� ����� ����� ��� 
� 
���� �

 
������
��
	�� ���	��
� ��� ���
�� ��� ���
����
�� �� ������ �� 
� �� �		����� �
����
�� ���
�	� ��� ������ ���� ��� �
 ��� �
�
��� ����!�
� ��� 
� ����
	� �
 ���
�����	�� �����
�� 	������
 �� ��� ��
�� �����
��� 	�
 �� � ������ �� ���

�
�
������ �� ������ �
�		����� ��
���
� �� ��� ���
�� ?����� ���� �
 � 	�
���� ���
���	����
� ��� ��
�� 
��
� �� �� 	�
��
������ ��
���
 �� ���
� ���������
��
���� ��� ���
� �
 ��
�� �� 	����	� ��� ��� ��
������
� 
� ����
	��

��� � ������� ��
��� ���� ���
 �
 ��� �

����� ��  ��� �

 ��
��� ���� ����
��� ���� ��
��� ����� �� ���� �
 �
	�
 �����
� �� )����
������� �� �
���� �
����������� "� �� ����
 
�������� �� �� ���� �� �		��
� ��� ���� ��
���� 
���
�����
	� 
�
���	� ���
 ��� ���� ��
��� ��� 	�
 �	��� �� *��� �
 �
	�

	�
�������� 	�
 �������� ��� �
��� 
�������
	��� ���
�	� ��� 
�������
	� 
��

���	� �
 ��� ������� �

 ��������� 	����
���� ��� ��� 
�������
	�� �

 �

���� 	���� � �
 	��������� �������� ��� 
�������
	� �	��
� �
 ��� ���
��

��� ��������� ���
 �
 ���� ������ �� 	�
����	��
 �
 ��� ������ #���� ��� ���
�
��
�� �� �����
��
 ���� �

����
�� ������ ���	� ���� �		��
� ��� 	�
���
�

�������
	�� �
����
� ��� ���	���� *�	�

��� �
 ��
�� �� ��
��� ��� ������ �

��� �����
��
 ��
��� � )����
������ �� ���
� ��� ��������� ���� 
�� ��������
��� ������ �� ��� �����
��
 ��
��� �

 �� �����!�
� ��� ���������
�� ����
��� ���
�� ��� ��������� ���� 	����	� ��� 
�����
	�� ������
 ��� $�����
��
'
��
�� ������ �

 ��� ���
� �������

�.".(.� /���&��
� #
�
�

"� �
 �
�������
� 	�
���
� 
�������
	� �
��� ��� ���	��� �� �� � ��
�� ����� ��
�����
�� ��� 	����
����� ������ ��� 
� �� ���	� ��� 
�����
 	�
������
  �������
������� ���� ������� �� ��� �
 �� �����
��
� ��� ���	��� ��
�� ���� 
�� 
���
�����
	� ������� ����� �� �
 D�1>6E ��������
 ����� �����
� ��� �����
��
�
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��� ���	��� ��
�� �� � 
�������
	� ��
��� ��� ���	��� ��
�� 
��
�
 ��

xk+1 = Axk + Buk + Bddk

yk = Cxk + Duk + Ed
$7�558'

	�
 �� �����
��
 �� ��� �������
� 
�������
	� ��
����
��	 �������� ������ 
���������	 ��
	� �� 	�
����	��
 ���
� ��� �������
�

���������	� ��
��[
xk+1

pk+1

]
=

[
A 0
0 I

] [
xk

pk

]
+

[
B
0

]
uk +

[
Bd

0

]
dk

yk =
[
C I

] [
xk

pk

]
+ Duk + Ed

$7�559'

��� ������ 
�������
	� ��
�� �� � 
��
���� ����� �� ��� ��� ������ 
������
��
	�� �

 � ���
����� ����� �� ��� ��� ��
�� ������� "� �� ���� �� �������
�
��� ��� ���
 �� ���� ��������
	� ���
 � 
�������
	� �
���� ��������� �
 ���
�����

��	 �����-����	 
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xk+1

dk+1

]
=

[
A Bd
0 I

] [
xk

dk

]
+

[
B
0

]
uk

yk =
[
C E

] [
xk

dk

]
+ Duk

$7�55C'
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� � ���	����
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 ������ 
���������	 ��
	� �� 	�
����	��
 ���
� ���
�������
� ���������	� ��
��[

xk+1

dk+1

]
=

⎡
⎣A Bd 0

0 I 0
0 0 I

⎤
⎦

⎡
⎣xk

dk

pk

⎤
⎦ +

⎡
⎣B

0
0

⎤
⎦uk

yk =
[
C E I

] ⎡
⎣xk

dk

pk

⎤
⎦ + Duk
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x̃k+1 = Ãx̃k + B̃uk $7�55;'

yk = C̃x̃k + Duk $7�55<'
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�� �� ��� ��� �����
 ������ ��� ��
�� �� ������
 �
 ��� ����M

x̃k+1 = Ãx̃k + B̃uk + B̃wwk $7�56>'

yk = C̃x̃k + Duk + vk $7�565'

����� wk �

 vk ��� ��

�� ���
��� ��������
�

E(w) = E(v) = 0 E(wwT ) = Q E(vvT ) = R $7�566'

#������� �� 
��
�
�

B̃w =
[
0
I

]
$7�567'
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�������
	� �� �����������
 ��

dk+1 = dk + wk $7�568'

���  ����
	� �� ��� ���
�� wk �� 
�� ��� ���� �� dk �

 �� ������
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	��
	���� �� ��� ����  ����
	��� ��� )����
 ���
 L 	�
 �� 	��	�����
 �
 ��
�� ��
�� � ������� ��������� ��� ��� 
�������
	�� dk �

 ������ xk� D0� >;E ������
���� �� ��� �����
��
 ��
�� �� 
���	������ �� �� ������ �������� �� 	��	�����
��� )����
 ���
� ��� )����
 ����� �� 
�� �� �
 ��

x̃k+1 = Ãx̃k + B̃uk + L(yk − C̃x̃k − Duk) $7�569'

= (Ã − LC̃)x̃k + (B̃ − LD)uk + Lyk $7�56C'

yk = C̃x̃k + Duk $7�56:'

#����������� ��� ����� x̂k �

 
�������
	� d̂k ��������� ��� �� �
 ��

x̂k =
[
I 0

]
x̃k $7�56;'

d̂k =
[
0 I

]
x̃k $7�56<'
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 ��� 	��	������
 �� ��� )����

���
 L� ���
 D0��<:E �� ��	����

�
�
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dMp

dt
= δM $8�5'

dMg

dt
= −δM $8�6'
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 ��� !�
���	���
� ��� ���� ��

 ��
� �� $8�5' �

 $8�6' 	�
 
��
�� 
� �
�
 �
�� ��� ������� 
��� ��� ��

dMp

dt
=

∂Mp

∂t
+ vx

∂Mp

∂x
$8�9'

dMg

dt
=

∂Mg

∂t
+ vz

∂Mg

∂z
$8�C'

���
 �� 	����
�
� $8�5'�$8�C' ��� ���� ���
���� �(�����
� ��	����

∂Mp

∂t
+ vx

∂Mp

∂x
= δM $8�:'

∂Mg

∂t
+ vz

∂Mg

∂z
= −δM $8�;'

#������ �� ����������
� $6�9' �

 $6�C' �
�� $8�:' �

 $8�;'� ��� ���� ���
��
��� �(�����
� 	�
 �� ��������
 �� ��� ����
��� ����� 	�������� �����

∂α

∂t
+ vx

∂α

∂x
=

δM

ρs
$8�<'

∂γ

∂t
+ vz

∂γ

∂z
= −δM

ρa
$8�5>'
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8�5 ���������	�� ��
���
�

����� #����� ��%����

��� �
���� ����
	�� ��� ��� 
���� ��
���� ��� �����
��
 ����� 1� ���
�
$6�58' �

 $6�67' ����� 	�
��
���
� ��� �
���� 	�
���
�
 �
 ��	�  ����� �
��
�� ���
�	� Qp[J/(m3s)] �

 ��� Qg[J/(m3s)]� ��� �
���� 	�
 �� �����
 ��

Qp = ρshp $8�55'

Qg = ρahg $8�56'

#���������� ��� �
���� ���
���� �(�����
� ��� �� �
 ��

dQp

dt
= δMλ0 + δU $8�57'

dQg

dt
= −δMλ0 − δU $8�58'

����� ��� ���� ���� �
 ��� ����� ��

 ��
� �		��
�� ��� ��� �
���� 
��
�
 ��
� ������� ����� �
��  ����� δU �� ��� ���� ��	��
�� ������
 ��� ���
�	� �


��� ��� �����
� �� �

 �� ��
���
 ��

δU = hε(Tg − Tp) $8�59'

"� 	�
 �� ���
 ���� ��� �
���� ���� �� ��� ���
�	� �
 $8�57' �� ��� ���� �� ���
�
���� ���
�
 �� ��� ��� �
 $8�58'� ��������� ��� �
���� ���
���� �
 ��� 
����
�� 	��������� ����
	�
� #������ ��� ���� ��

 ��
� �� $8�57' �

 $8�58' 	�
 ��

� �
�
 �
�� ������� 
��� ��� ��

dQp

dt
=

∂Qp

∂t
+ vx

∂Qp

∂x
$8�5C'

dQg

dt
=

∂Qg

∂t
+ vz

∂Qg

∂z
$8�5:'

���
 �� 	����
�
� $8�57' �

 $8�58' ���� $8�5C' �

$8�5:'� ��� �
���� ���
����
�(�����
� ��	����

∂Qp

∂t
+ vx

∂Qp

∂x
= δMλ0 + δU $8�5;'

∂Qg

∂t
+ vz

∂Qg

∂z
= −δMλ0 − δU $8�5<'

#�
����� �� ����������
� $8�55'� $8�56'� $6�59' �

 $6�68' �
�� $8�5;' �


$8�5<' ��� �	�� ������	� 	�������� 	�
 �� �����
 ��

δTp

δt
+ vx

δTp

δx
=

(λ0 − cpwTp)δM + δU

ρs(cps + αcpw)
$8�6>'

δTg

δt
+ vz

δTg

δz
=

cpvTgδM − δU

ρa(cpa + γcpv)
$8�65'

. 
������
 
��� ����
 �� $8�6>' �

 $8�65' ��� ����
 �
 .�5�
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�� 2� ������
�

����� +
�����)��� ��� ����%

'
��� %���
<

∂α

∂t
+ vx

∂α

∂x
=

δM

ρs
$8�66'

δTp

δt
+ vx

δTp

δx
=

(λ0 − cpwTp)δM + δU

ρs(cps + αcpw)
$8�67'

0�� %���
<

∂γ

∂t
+ vz

∂γ

∂z
= −δM

ρa
$8�68'

δTg

δt
+ vz

δTg

δz
=

cpvTgδM − δU

ρa(cpa + γcpv)
$8�69'

����� ��� ���� δM �

 ���� ���
���� δU �� �� �
 ��

δM =
hε

λ0
(Tdp(γ) − Tg)ζ(α) $8�6C'

δU = hε(Tg − Tp) $8�6:'

#���������� ��� 
�� ���
� ����������� Tdp(γ) �

 �����
� ���� ζ(α) ��
�� �
 ��

Tdp(γ) =
[

1
T0

− Rv

λ0
ln

(
Patmγ

ps,0(β + γ)

)]−1

$8�6;'

ζ(α)) = pθα
θ + pθ−1α

θ−1 + · · · + p1α + p0 $8�6<'

"� ζ(α)) = 1 ∀ α� ���
 ��� ��
�� �� �
�
��	�� �� ��� ��
�� 
� �����
 �

D*��>;�E�
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8�5 ���������	�� ��
���
�

����" ����% 2�����%��
��

Tp = ������������ ���
�	� D◦CE
Tg = ������������ ��� ������� D◦CE
α = ����
��� ������ ���
�	� Dkg/kgE
γ = ����
��� ������ ��� Dkg/kgE

δM = 2���
� ���� Dkg/m3/sE

δU = 0��� ���
���� DJ/m3/sE
Tdp = ������������ 
�� ���
� D◦CE

ζ(α) = �����
� ���� ��������	���� �� ��� 
���
� ���� D5E

cpa = ���	��	 ���� 	���	���� ��� DJ/kg ◦CE
cpv = ���	��	 ���� 	���	����  ���� DJ/kg ◦CE
cps = ���	��	 ���� 	���	���� ���
�	� DJ/kg ◦CE
cpw = ���	��	 ���� 	���	���� ����� DJ/kg ◦CE

ρs = ���� 
�
����� 
�� ����
 Dkg/m3E

ρa = ���� 
�
����� 
�� ��� Dkg/m3E

vx =  ���	���� 	�
 ��������� Dm/sE
vz =  ���	���� ��� ������ Dm/sE

h = ���� ���
���� 	���	��
� DJ/s m2 ◦CE
ε = � ��������
 ����G���
�	�  ����� ����� D5/mE

λ0 = ���� ��  �����!����
� ����� DJ/kgE

Mp = ����� ���� ���  ����� �
��� ���
�	� Dkg/m3E

Mg = ����� ���� ���  ����� �
��� ��� Dkg/m3E

Qp = ����� �
���� ���  ����� �
��� ���
�	� DJ/m3E

Qg = ����� �
���� ���  ����� �
��� ��� DJ/m3E

hp = �
������� ���
�	� DJ/kgE
hg = �
������� ��� DJ/kgE
T0 = ������
	� ������������ ��� DKE

ps,0 = ������� �������� �� ������
	� ����������� DhPaE
Rv = ���	��	 ��� 	�
���
� DJ/kg KE

pθ = ����
����� 	���	��
� �
 ��� �����
� ����

θ = ��
�� �� ��� ����
����� �� ���
 �
 ��� �����
� ����
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8 ��
�� 2� ������
�

����0 ���������� � ����%��� #���� �� 34�567

"
 D 2><E� ��� ��
���
� �� ��� �����
� ���� �������
 �
 �
	����	� �(�����
� ���
��� 
�������
��� ��� �����
� ���� ζ(α) ��� �
	��
�
 �
�� ��� 
���
� ���� δM �
���	� ��� 	����	�� 1�� ���
 ��� 
���
� ���� �����
 �� � ���
 ����������

�
�� ��� �
���� �(�����
�

∂Qp

∂t
+ vx

∂Qp

∂x
= δMλ0 + δU $8�7>'

∂Qg

∂t
+ vz

∂Qg

∂z
= −δMλ0 − δU $8�75'

��� �����
� ���� ζ(α)� ���� �� ������� ���	� �������
 �
 ��� ������	�� �(�����
�

∂Qp

∂t
+ vx

∂Qp

∂x
= hε(Tdp(γ) − Tg) + δU $8�76'

∂Qg

∂t
+ vz

∂Qg

∂z
= −hε(Tdp(γ) − Tg) − δU , $8�77'

�
����
 �� ��� ����	�� �(�����
�

∂Qp

∂t
+ vx

∂Qp

∂x
= hε(Tdp(γ) − Tg)ζ(α) + δU $8�78'

∂Qg

∂t
+ vz

∂Qg

∂z
= −hε(Tdp(γ) − Tg)ζ(α) − δU , $8�79'

.� � 	�
��(��
	� �� ���� ��
���
� ������ ���� ��� 
�
��
��� �

 ��
���
��
�� ��� �
	����	�� ��������� ��� 
�
��
��� ��
���
�� ��
����!����
 $��
	�

�����
������
�' �

  ������ 	��������
� ��� �� �� ��
�
� �

 �������
��
 �

���� �������

��
 '����(�#����� %� )�����  �*������

��� ������� ��
�� �� �
 �� �(�����
� $8�66'�$8�69' 	�
����� �� ������� 
�����
�
	� �(�����
� $%2?�' �

 
��
� �� �� ��� �
� %2?� ��� �
 ��
���� ���
 ��
��� �� �

 �� ���� ���� ����� ��� ��� �
� ����� "
 ���� ����� �� �
 D*��>;�E �


D 2><E� ��� �
��� 
�����
	� ������������
 $#2.' �� ���
 �
 ��
�� �� ��������
��� 
�
��
��� ��
��� "
 ��
�� �� �
	��
� ���  ������ ���
��� �� ���� ������� ���
�����
 �� �������
 �����

��� ��
�� ��� ��� ����� !�
� �� 
� �
�
 �
�� ������� ���	��$�����
��'� �


�� ��� �����
�� ��� ����� �
����� �� ��� � 	���� ������������
 �� ��� %2?
��
��� #����� 8�5 ����������� ��� 	�
����  ����� ������������
� �

 #����� 8�6
����������� ��� �����
� ������� ��� ������ ���� ��� ��� !�
� �� 
� �
�
 �
��
������� �����
�� 
���

�
� �
 ��� 
����� �� ������� �
��� ���� ��� �������
 �������� ��� 
��
�
 �
 �
 �
��� �� n ∈ [1, N ] ���
� ��� ������ �

 m ∈ [1,M ]
���
� ��� !������

8C



8�6 .�����������
 �� #�
��� 2�����
	�

#����� 8�5M "����������
 �� ��� %2? �
��� 
�����
	� ������������
� ���
 ����
��� ��
��

��� 
�
��
��� ��
�� ��������
 ���� ��� #2. ������� �
 ��� 
�����
����
�����
�� ����������
 �
 #����� 8�6�

��� ������ �� ���� ������������
 �� ���� ��
�
��� 
�����
���� �(�����
�
$32?�' ��� ��	� �����
� �
 ��	� !�
�� 1� 
��
�
�

x1(n,m) = α(n,m)

x2(n,m) = Ts(n,m)

x3(n,m) = γ(n,m)

x4(n,m) = Tg(n,m)

$8�7C'

�

 �� ���
� ��� �����	�� ?���� �����
� �� 	�
 ����� ��� 32?O� ��� ��	�
�����
� �� ��� 	����
� !�
� ��M

ẋ1,(n,m) =
vx

dx

[
x1,(n−1,m) − x1,(n,m)

]
+ r1,(n,m) $8�7:'

ẋ2,(n,m) =
vx

dx

[
x2,(n−1,m) − x2,(n,m)

]
+ r2,(n,m) $8�7;'

ẋ3,(n,m) =
vz

dz

[
x3,(n,m−1) − x3,(n,m)

]
+ r3,(n,m) $8�7<'

ẋ4,(n,m) =
vz

dz

[
x4,(n,m−1) − x4,(n,m)

]
+ r4,(n,m) $8�8>'

m ∈ [1,M ], n ∈ [1, N ]

8:



8 ��
�� 2� ������
�

x

z

dx

dz

y

Inlet product Outlet product

Inlet air

Outlet air

#����� 8�6M *	������	 �������
�����
 �� ��� 	�
��
���� 	���� H�� ���� 	�
 ����

���� 
�����
���� �����
�

�����

x1,(0,m) = x1,in,(m) = �
��� ����
��� �� ���
�	� �� �I� Dkg/kgE $8�85'

x2,(0,m) = x2,in,(m) = �
��� ����������� �� ���
�	� �I� D◦CE $8�86'

i ∈ [1,M ]
x3,(n,0) = x3,in,(n) = �
��� ����
��� �� ��� 
I� Dkg/kgE $8�87'

x4,(n,0) = x4,in,(n) = �
��� ����������� �� ��� 
I� D◦CE $8�88'

i ∈ [1, N ]

����� vz �

 vx ���
� �
 ��� ���� 
���	���
� �� ��� �� �

 !����� 
��
�
 �

#������ 8�5 �

 8�6� �����	�� ���� dz �

 dx �� ��� ��
��� �� ��� ��
�� �� ��	�
�����
� �
 ��� � �

 � 
���	���
�� �����	�� ���� #����������� ��� 
�
��
���
��
	���
� ��� 
��
�
 ��

r1,(n,m) =
δM

ρs
$8�89'

r2,(n,m) =
(λ0 − cpwx2,(n,m))δM + δU

ρs(cps + x1,(n,m)cpw)
$8�8C'

r3,(n,m) = −δM

ρa
$8�8:'

r4,(n,m) =
cpvx4,(n,m)δM − δU

ρa(cpa + x3,(n,m)cpv)
$8�8;'

8;



8�7 ��
�� *���	����
�

��� ����� ���	��	���!

"
 ��	���
 8�6 � ��
�� ���� 
� �����	���� ����	���� ��� 
��
�
� 1� �����!�
�
��� ������ ����	���� �� ��� ������� � ��
�� ���	� �� ���	��	�� ���� �� ������
��
� �

 �� ��� �� 	�����
� ��� ����	���� ���
 �� �� �����
 ��� ���� ���

�
 D 2><E� ���	� �� ����
 �
 ��� ����	���� 
� �����
 �
 D*��>;�E� "
 ��
�� ��
�
	��
� ���  ������ ���
��� �� ���� ������� �� �� �������
 �����

��� ������ 	�
 �� ����	����
 ��

ẋxxi = kGGGixxxi + rrri(xxx) + Kxxxi,in i ∈ [1, 4] $8�8<'

�����

K =

⎧⎨
⎩

vx

dx
i ∈ 1, 2

vz

dz
i ∈ 3, 4

xxx =

⎡
⎢⎢⎣
xxx1

xxx2

xxx3

xxx4

⎤
⎥⎥⎦ $8�9>'

xxxi =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

xi,(1,1)

xi,(2,1)

xi,(3,1)
���

xi,(N,1)

xi,(1,2)

xi,(2,2)

xi,(3,2)
���

xi,(N,2)

xi,(1,3)

xi,(2,3)

xi,(3,3)
���

xi,(1,M−1)
���

xi,(N,M)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

rrri =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

ri,(1,1)

ri,(2,1)

ri,(3,1)
���

ri,(N,1)

ri,(1,2)

ri,(2,2)

ri,(3,2)
���

ri,(N,2)

ri,(1,3)

ri,(2,3)

ri,(3,3)
���

ri,(1,M−1)
���

ri,(N,M)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

i ∈ [1, 4] $8�95'

#������ ��� ���
�����
 ������ ���	� 
��	����� ��� �
����	���
 ������
 ���

8<
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�� 2� ������
�

�����
�� �� 
��
�
 ��M

GGGi =

⎡
⎢⎢⎢⎣
β 0 · · · 0
0 β · · · 0
���

���
� � �

���
0 0 0 β

⎤
⎥⎥⎥⎦ i ∈ 1, 2

GGGi =

⎡
⎢⎢⎢⎢⎢⎣
−I 0 0 · · · 0 0
I −I 0 · · · 0 0
0 I −I · · · 0 0
���

���
���

� � �
���

���
0 0 0 · · · I −I

⎤
⎥⎥⎥⎥⎥⎦ i ∈ 3, 4

�����

β =

⎡
⎢⎢⎢⎢⎢⎣
−1 0 0 · · · 0 0
1 −1 0 · · · 0 0
0 1 −1 · · · 0 0
���

���
���

� � �
���

���
0 0 0 · · · 1 −1

⎤
⎥⎥⎥⎥⎥⎦

dim(GGGi) = (N �M) × (N �M)
dim(β) = N × N

dim(I) = N × N

��� ���

��� 	�

����
  �	���$�
��� �����  �	���' ��� ��� !�
� �� 
��
�

��M

xxxi,in =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

xi,in(1)

0
���
0

xi,in(2)
���
���

xi,in(M)

0
���
0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

i ∈ 1, 2 xxxi,in =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

xi,in(1)

xi,in(2)

xi,in(3)
���

xi,in(N−1)

xi,in(N)

0
���
���
0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

i ∈ 3, 4 $8�96'

��� ������ ��� ��� ����� !�
� 	�
 �� �����
 ��

ẋxx = kkkGGGxxx + rrr(xxx) + kkkxxxin $8�97'

9>



8�8 @�
����!����


�����

GGG =

⎡
⎢⎢⎣

G1 0 0 0
0 G2 0 0
0 0 G3 0
0 0 0 G4

⎤
⎥⎥⎦ rrr(xxx) =

⎡
⎢⎢⎣
rrr1(xxx)
rrr2(xxx)
rrr3(xxx)
rrr4(xxx)

⎤
⎥⎥⎦ xxxin =

⎡
⎢⎢⎣
xxx1,in

xxx2,in

xxx3,in

xxx4,in

⎤
⎥⎥⎦ $8�98'

kkk =

⎡
⎢⎢⎢⎣

κ 0 · · · 0
0 κ · · · 0
���

���
� � �

���
0 0 · · · κ

⎤
⎥⎥⎥⎦ κ =

⎧⎨
⎩

vx

dx
��� ��� ���� N �M � 2 ����G	����
�

vz

dz
��� ��� ���� N �M � 2 ����G	����
�

$8�99'

dim(GGG) = (N �M � 4) × (N �M � 4)
dim(kkk) = (N �M � 4) × (N �M � 4)

��� $������+�����

�� ���� ���
�� � ��
��� !�
� 	�
�����
� �� 
�
��
��� 32?O� $8�97' ��� ���

��
���
� ? �
 �� ��� �� ��� #2.� ��� ��
�� �� ����� 	������ �

 ���������


������
 �� �� ��
� ��� ��
�� ����
 	�
����� "
 ��
�� ��� ��� ��
�� ����

	�
������� �� �� ���� �� ���
�	� ��� ���
� ���� ���� �� ���� �� ������� ��������
�
��� 	���	� �� �������	����
 �
 ���� ������� �� ��
����!����
� ���	� ����
� ���
��������
 �
 ���� D 2><E �

 D*��>;�E� @����� ���
 	�
����	��
� ��� ���������
!�
� 
����� ��
��� ��
��� ��� ��� !�
�� �� ��� 
���� �� 	�����
 �

 	����
�
�
.

 �
 ��
�� ��� ��� ���
�� �� ����� �

�����

 ��� �� 	����
� ����� !�
���
��� ���
�� �����
 ���� �� � �
����
�� ��� ��� !�
����
����!����
 �� ��������
�
��� ��
����!����
 ����	���� �

 �����	�� ��� ��� ���� �� �
 D 2><E�

1� 	�

��
���
� ��� 32?� �
 $8�97'M

ẋxx = kkkGGGxxx + rrr(xxx) + kkkxxxin

�� 	�
 �� ���
 ���� ��� �
�� 
�
��
��� ���� �� ��� �(�����
 �� rrr(xxx)� ���������
�� �
�� 
��
 �� ��
����!� ���� �����
�� ��� ��
����!����
 �� 
�
� �� ������
�M

rrr(xxx) ≈ Jxxx $8�9C'

��	���� rrr(xxx) �� �

���

�
� �� xxxin� J �� ��� -�	����
 �� rrr(xxx)M

JJJ ≈ ∂rrr

∂xxx
=

⎡
⎢⎢⎣

∂rrr1/∂xxx1 ∂rrr1/∂xxx2 ∂rrr1/∂xxx3 ∂rrr1/∂xxx4

∂rrr2/∂xxx1 ∂rrr2/∂xxx2 ∂rrr2/∂xxx3 ∂rrr2/∂xxx4

∂rrr3/∂xxx1 ∂rrr3/∂xxx2 ∂rrr3/∂xxx3 ∂rrr3/∂xxx4

∂rrr4/∂xxx1 ∂rrr4/∂xxx2 ∂rrr4/∂xxx3 ∂rrr4/∂xxx4

⎤
⎥⎥⎦

∣∣∣∣∣∣∣∣
xxx0

$8�9:'
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�����

∂rrri

∂xxxj
=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∂ri(1,1)

∂xj(1,1)
0 · · · · · · · · · 0 0

0 ∂ri(2,1)

∂xj(2,1)
· · · · · · · · · 0 0

���
���

� � �
���

���
���

���

0 · · · · · · ∂ri,(N,1)

∂xj(N,1)
· · · · · · 0

���
��� · · · ���

� � �
���

���

0 0 · · · 0 0 ∂ri,(N−1,M)

∂xj(N−1,M)
0

0 0 · · · 0 0 0 ∂ri,(N,M)

∂xj(N,M)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣∣
xxxj,0

$8�9;'

[i, j] ∈ [1, 4]

dim(JJJ) = (N �M � 4) × (N �M � 4)

dim(
∂rrri

∂xxxj
) = N × M

x0 = @�
����!����
 ���
�

4���	� ���� 
����
�� �����
�� �
 $8�9;' ��� ��� ����� ��� �
�� 
�����
	�
������
 ���� ��� ��� ��	� ���� ���� ��� ��
����!�
 ����

 
�����
� ���
�
�
 ���	� xj,0(n,m)� . 
������
 
�����
������
 �� ��� 
�����
� �

���� �
 ���
-�	����
 �� ����
 �
 $.�6'� #���������� �� �����
� 	����� �� ��� ����	���� ��
$8�9;'� �� 	�
 �� ���
 ���� �� ��� � 
����
�� ����� ���� ���� �� � ������ �� ���
����	���� �� ��� �����  �	����� .�� ��� �����
�� ���� ��	�����
 �� ��� 
����
��
��� !���� ��	���� ri(m,n) �� 
���

�
� �
�� �� ��� ������ �
 ��� 	����
� �����
��
���� 
���

�
	� �� ������ 	�
����
 �� �
���	��
� ��� �(�����
� 
��
�
� �����
��
	���
�� $8�89'�$8�8;'�

1� �����������
� $8�9C' ��� ��
��� ������ 
��	����
� ��� 
�
���	� ��� �
�
!�
� 	�
 �� 
��
�
 ��

ẋxxlin = kkkGGGxxxlin + JJJxxxlin + BBBu

ẋxxlin = (kkkGGG + JJJ)xxxlin + BBBu

ẋxxlin = AAAxxxlin + BBBuuu $8�9<'

��� ������ �����	�� AAA �

 BBB �� �� �
 ��

AAA = kkkGGG + JJJ $8�C>'
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BBB = kkk $8�C5'

����� GGG �

 kkk �� �� �
 �
 $8�98' �

 $8�99'� �����	�� ����

dim(AAA) = (N �M � 4) × (N �M � 4)
dim(BBB) = (N �M � 4) × (N �M � 4)

1� ���
� ��� �
��� �����  �	���� 
��
�
 �
 $8�96'� ��� �
���  �	��� ��� �
�
�����	���� !�
� �� ��� ��
��� ������ 	�
 
�� �� 
��
�
 ��M

uuu =

⎡
⎢⎢⎣
xxx1,in

xxx2,in

xxx3,in

xxx4,in

⎤
⎥⎥⎦ $8�C6'

0��� �
��� ���
�	� ����
��� xxx1,in �

 �
��� ���
�	� ����������� xxx2,in ���
���
������
 ���� ��� ��� ���� !�
�� ���� ��� ��	�����
 �� ��� ���� !�
�� �

���	� 	��� ��� �
��� ���
�	� ����
��� �

 ����������� ��� �� �
 ���

xxx1,in = δδδTs,in xxx2,in = δδδαin $8�C7'

�����

δδδ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1
000
1
000
���
1
000

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

000 =

⎡
⎢⎢⎢⎣

0
0
���
0

⎤
⎥⎥⎥⎦ $8�C8'

dim(δδδ) = (N �M) × 1

dim(000) = (N − 1)) × 1
Ts,in = �
��� ����������� �� ��� !�
�� ���
�	� D◦CE
αin = �
��� ����
��� ����� �� ��� !�
�� ���
�	� D��G��E

"
��� ��� ����
��� xxx3,in �

 �
��� ��� ����������� xxx4,in 	���
 �� ������
��� ���� �
����� !�
�� �� ���� 	���
 �� ��
�������
  �������� ��� ��� 
�����
"� ��� �
��� ��� �� ��� !�
� �� �� �
 �� �
 �����
�� �
���� ���� 
�� �� �
 ������
�� �
����� !�
�� ���
 ��� �
��� ��� ����
��� �

 ����������� ��� �� �
 ���

xxx3,in = σσσTg,in xxx4,in = σσσγin $8�C9'
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�����

σσσ =

⎡
⎢⎢⎢⎢⎢⎣

1
1
���
1
000

⎤
⎥⎥⎥⎥⎥⎦ 000 =

⎡
⎢⎢⎢⎣
0
0
���
0

⎤
⎥⎥⎥⎦ $8�CC'

dim(σσσ) = (N �M) × 1
dim(000) = (N � (M − 1)) × 1

Tg,in = �
��� ����������� �� ��� !�
�� ��� D◦CE
γin = �
��� ����
��� ����� �� ��� !�
�� ��� D��G��E

��, -���	���! -��	�  ���#��


"
 ��� 	�
 ��������� 
����� ��� ��
�������
  �������� �� ��� 
���� ��� ����

��� �
��� ��� ������������ �� ���  ������ !�
��� *�������� ����� �
����
	�
 ��  ��� ���� ������ � �� ��� ���� 
�
���	� �� ��� 	�
 ��������� 
����� #��
�������� ���
��� ��� ���� �

 	�
 ����
 �� 
����	��
 ���
 ��
���
� ��� 
�����

3
 ��� ����� ��

� �� ��� �
��� ��� ������������ �� ��� 
���� ��� �����
��� ��� ���
������
 ���
� ���� ���� ��	��
���� �
H��
	�
 �� ��� ������ ���
������������ ���� ��� 
����� �� �� ����
���� �� �
	��
� ��� �
��� 
�
���	� ���
���	��� ��
��� "
 ���� ��	���
 �� �� ����������
 ��� �� �
	��
� ��
��� �
���

�
���	� �
 ��� ���	��� ��
��� .����� ��� 
���� ��� ��� ��
��� ���������	�
��
��

ẋ = Ax + Bu

y = Cx
$8�C:'

u =

⎡
⎢⎣gT1,in

���
gTj,in

⎤
⎥⎦ $8�C;'

����� gTi,in �� ��� �
��� ��� ����������� �� !�
� i�

��"�� &����� .�!
� ��������

��� �
��� 
�
���	� ��� ����
 �� �
 �� ��� �

�� 	�
���� ����� ��� ��� ���
����
���� ��	��
���� �

 �� �
� .�����
� ��� 
�
���	� ��� ��
���� ��� �
���

�
���	� 	�
 �� �����
 �
 ��� ����� ���	� ��
��

ẋu = Auxu + Buuref + Byy

u = Cuxu + Duuref

$8�C<'
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��� 2�
���	�

�����

uref =

⎡
⎢⎣gT1,in,ref

���
gTj,in,ref

⎤
⎥⎦ y =

⎡
⎢⎣gT1,out

���
gTj,out

⎤
⎥⎦ $8�:>'

����� gTi,in,ref �� ��� �
��� ��� ����������� ������
	� �� !�
� i� .

 gTi,out ��
��� ������ ��� ����������� �� !�
� i ��� ��� 
����� ��� ���� Byy �� �
	��
�

�
 ��
�� �� �		��
� ��� ��� ������� �� ��� ������� ��� �� ��� !�
���

/��&%�
 ".�. .����� ���� � 
���� 	�
���� �� �
�� �
� !�
� �

 ���� ���
�
��� ��� ����������� �� ���� !�
� �� �� �
 �� � ���� ���
�� ���	� 	�
 ��
�����������
 ���� � ���� ��
�� ���
���� ��
	���
 ���� ���� 	�
���
� T �


����
� ����� ���
 KM

gT =
K

1 + Ts
gTref $8�:5'

#������ ���� ���
�� 	�
 �� �����
 �
 ����� ���	� ����M

˙gT = − 1
T

gT +
K

T
gTref $8�:6'

���	� �� �� Au� Bu� Cu �

 Du �
 $8�C<' ��

Au = − 1
T

Bu =
K

T
Cu = 1 Du = 0 $8�:7'

By = 0 ��	���� ��� ���
�� �� �

���

�
� �� ��� ������� ��� ������������

��"�� *
�������� ��� 
������ ����%

4�� �� 	����
�
� ��� �
��� 
�
���	� $8�C<' ���� ��� 
���� ��
�� $8�C:' ���
�����
��
 ��
�� ��	����

˙̂x = Âx̂ + B̂uref

y = Ĉx̂
$8�:8'

�����

Â =
[

A BCu

ByC Au

]
B̂ =

[
BDu

Bu

]
Ĉ =

[
C 0

]
$8�:9'

?(�����
� $8�:8' �

 $8�:9' ����� ��� ��� 
�
���	� �� ��� �
���� 	�
 ��
�
	��
�
 �
 � ��
���� ��
��� 
���� ��
���
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������� �

���	�  ����

"
 ���� 	������ ���� ��
�� ���������� ��� �
 ��������
� ��� 
���� ��
��
	�
����	��
 �

 ���
 ���� �� �
�� � 
���
�������
� �

 �� 
�� ���
 �
 ���
����� 	��������

.� � 	�
��(��
	� �� ��� ��
���
� ����� �
 D 2><E� ���� ��� 
�
��
���
�

 ��
��� ��
���
� �������
 �
 �
 �
	����	� ��
��� ��������� ��� 
�����
�
	��������
� �

 � �������
� �� �������
��
 �
 ���� ������� ��	� �� ��	���
 9�5�5
�

 9�6 �� �������
 ���� D 2><E�

,�� ���!�� .��� ��#	������

"
 ��
�� ��  ����� ��� 	����	�
��� �� ��� ��
��� ��� 
�
��
��� 32?� $8�97'
���� ��� �
 �
 �.�@.1 ���� �
�67��� ���	� �� ��� �
�� ��� �� ���� 	���

��� � ��� 32?� ���� ���� �

 �		����� ������� �
 ��	������
� �����
�� $���	�
�� �

������ ��� � 	�
 ���� ���� 
����'� ��� D 2><E�

1� ��������
� ��� ������ �� 	�
 ����� � ��� ��
�� 
�
���	� �

 ���

	������ ��� ��
�� �� ��� ���� �� �����	�� .
����� �����
 ��� ��������
� ���

�
��
��� ��
�� �� �� �����
 ����
� �����  ����� �� ��	� !�
� �� ��� 
�����
���	� 	�
 �� ���
 ���

� ��
�
� �� ��� ��
�� 	�
���
�� $��������� ���������
'�

� ��
����!����
 �� ��� ��
�� ����

 	�����
 �������
� ���
��� ���� 
������
����� ��� ��
����!����
 	�
 �� ���

 �
 ��	���
 8�8�

�� �������� ��� ��
�� �� 
��
 �� 
������
� ��� ��
�� ����������� *��� ��
����� ��� �
 �� �
 ������� ����� ������ 	�
 �
�� �� �
�
����
 �� ��������
�����

�
 ��	� �����	���� 
����� *�
	� ���� ���+�	� �� 
�� 
� ���
 �� � ���	��	 
�����
��� 	�
���
�� 	�
 �� 	����
 ���������� �����
 �����
���� ��
��� �� �����
 �
��������	 ���������
� ��� ��+����� �� ��� ��
�� 	�
���
�� ���
 �� �����
�

���� ��� 
���� ��������
 �
 D*��>;�E� ����� 9�5�9�7 ������ ��� ���������� ���

�
 ���� ���������
�
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=������
 =���
 $
�
&�����
� $
����%��
�

Ts,in C9 ◦C "
��� ������������ ���
�	�

Tg,in 55> ◦C "
��� ������������ ���

αin >�69 kg/kg 1��

��� ��������� ���
�	�

γin >�>5 kg/kg 1��

��� ��������� ���

vx >�>>87 m/s A���	���� 	�
 ���������

vz >�89:< m/s A���	���� ���

����� 9�5M 4���
�� ����
������� ��������
��  ������ ��
������
� 
����

=������
 =���
 $
�
&�����
� $
����%��
�

Δx 5�7 m &�
 ��������� ��
���

Δy >�C m &�
 ��������� ��
��

Δz >�>99 m %��
�	� ���	� ������

����� 9�6M .���������� 	�
����  ����� 
���
���
�� ��
������
� 
����

=������
 =���
 $
�
&�����
� $
����%��
�

αcrit >�58 kg/kg &����	�� �������� 	�
��
�

cPW 866> J/kg K *��	��	 ���� 	���	���� ����� $7:9)'

cPS 6>>> J/kg K *��	��	 ���� 	���	���� ���
�	� $7:9)'

cPV 5;<> J/kg K *��	��	 ���� 	���	���� ����� $7:9)'

cPA 5>>> J/kg K *��	��	 ���� 	���	���� .�� $7:9)'

h 69 J/s m2 K 0��� ���
���� 	���	��
�

Mg 28.97 × 10−3 kg/mol ����� ����� 
�� ���

Pa 5>5769 Pa .���������	 ��������

Ps0 C�55 hPa %������ �������� �� ������
	� ��������
����

R ;�588:6 J/K mol K
� ����� ��� 	�
���
�

Rv 8C5�9 J/kg K *��	��	 ��� 	�
���
�� �����

T0 6:7�59 K =�����
	� �����������

β >�C65<: 5 *��	��	 ���� ������ �����G
�� ���

ε 5>> � 7>> m2/m3 A�����!����
 ���� ��� ���
�	�  �����

λ0 669:>>> J/kg @���
� ���� ��  �����!����


ρs C>> kg/m3 ���� 
�
����� ���
�	�

ρg 5�>>< kg/m3 ���� 
�
����� ���

����� 9�7M ��
�� 	�
���
��� ��
������
� 
����
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 �����(��
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��
 ���
 	���
� �
 	�
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������
	�� ��� ��������
� ���� ������
	� �� �
 ��������
 �

 	����	��
 ������

�.�.�.�  
��
����� ��
 �&������
 �
��� �� 	�
��
�� >
��

��� �����
 ��� ��� ������
	� �
 D 2><E 	�
 �� ���

 �
 ��� 
��
����
 �� �
����
	��
�� ���� ��� ���
 ���
 �
���	��
� ��� �
���� ����
	�� ��� ������	��
�(�����
 ���
 ��� 
��	����
� ��� ���
�	� �
���� ����
	� ���

dEp

dt
= [wphp]in − [wphp]out $9�5'

����� wp �� ��� ���� H�� �� ���
�	� Dkg/sE �� �
 ��

wp = ρs(α + 1)vpAp, $9�6'

�������
 �
�� ��� ������	�� 	�������

dEp

dt
= [wp(cps + αcpw)Tp]in − [wp(cps + αcpw)Tp]out $9�7'

�
����
 �� ��� ����	�� 	������� 
��� �
 �
 ��	���
 6�8�7�5M

dEp

dt
= [ws(cps + αcpw)Tp]in − [ws(cps + αcpw)Tp]out $9�8'

����� ws �� ��� ���� H�� �� ����
 Dkg/sE �

 �� �� �
 ��

ws = ρsvpAp $9�9'

��� ���� ������� ��� 
�
� ���
 �
���	��
� ��� ��� ������� �
���� ����
�
	� ���	� �������
 �
 ��� ������	�� �(�����
M

dEg

dt
= [wghg]in − [wghg]out $9�C'

�
����
 �� ��� ����	�� 	������� 
��� �
 �
 ��	���
 6�8�7�6M

dEg

dt
= [wahg]in − [wahg]out $9�:'

����� wa �� ��� ���� H�� �� ��� Dkg/sE �

 �� �� �
 ��

wa = ρavgAg $9�;'

�.�.�.� /�
��� ������
 
� ��
 +
�


1� 
��
� �
 �
���� ����
	� 	�
��
������
 �� ��� ������� �� 	�
 �� 
������
�

�� ��� ��
�� �� ����
	�
 �� 
��� .� ����
� ����� ��� �
���� ���
� �
�� � !�
� ��
�(��� �� ��� �
���� ��� �
� ��� !�
�� ��� �
���� ����
	� ��� � !�
� �� ����
�
����� �� 
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 ��
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Ė = Ėin − Ėout = 0 $9�<'

��� �
���� �
��� �

 ������ �� ��� ��� �� ��� ����
 �

 ��� �
������

Ėin = Ėp,in + Ėg,in $9�5>'

Ėout = Ėp,out + Ėg,out $9�55'

����� ��� �
���� �
��� �

 ������ �� ��� ���
�	� ��� �� �
 ��

Ėp,in = wshp,in $9�56'

Ėp,out = wshp,out $9�57'

�

 ��� �
���� �
��� �

 ������ �� ��� ��� ��� �� �
 ��

Ėg,in = wahg,in $9�58'

Ėg,out = wahg,out $9�59'

�.�.�.� /�
��� ������
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� ��
 �����
 $�?
�
��
 �%%�
��&��
�
&
�
�
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 �� �����
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� ��� ��
�� ����
��� �
��� 
�����
	� ������������
� ��� �����
� �
������ ���� �� �������!�
�
"
 #����� 9�< ����� �� � �����������
 �� ��� �
���� ����
	� �� ��� !�
��

Ėp,in =
Ės,out =

Ėg,out =
∑N

n=1
Ėp,in,(n,M)

Ėg,in =
∑N

n=1
Ėg,in,(n,1)

n = 1 n = N

m = M

m = 1

∑M

m=1
Ės,in,(N,m)

∑M

m=1
Ėp,in,(1,m)

#����� 9�<M "����������
 �� ��� �
���� �
��� �

 ������ �� ��� !�
� ��������

���� #2.

1� 
��
�
� ��� �
���� �
��� �

 ������ ��� ��	� �����
� ��
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 ��� ��� ��� ��� ����� !�
� ��
�� �
 �� ��� �(�����
�M

Ėp,in =
M∑
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Ėg,in,(n,M) $9�5<'

�.�.�." ����������� ��
 /�
��� ������


����� ��������
� ��� 
���� �����
� ����
� ����� �
 ��	���
 9�5�5 ��� �
����
�
��� �

 ������ �� ��� ������ �����
 	�
 ���� �����
� ��	� ������ ��� ��
�
���
� �
 ��	���
 8�5�6 �

 8�5�7 �
���� ���� ��� ���� �

 �
���� ����
	�� ���
�
���� �� ���� ����������
 �
 #����� 9�5> ����� $9�5C' �

 $9�5<' ��� 
�����	����
	��	�����
 ��� ��� !�
�� "� 	�
 �� ���
 ���� ��� �
���� ���
� �
�� ��� 
���� ��
�(��� ��� �
���� �����
� ��� 
�����

,�
 $����� /��
	
 ��� 0�������� �����

1� �������	����
 �� ��� 
�
��
��� ��
��� � ��
��� ��
�� ��� �����
�
� ���
��
����!�
� �� � 
�
��
��� ��
�� �� �
�� �		����� �
 ��� ��	�� ���� ����

 ���
��
����!����
 ���
�� �

 �
 ���� 	���� ���� ���� 	���
 ��  ��� ������ ����������
������ ���
� ��� ��
��� ��
��� ��� 
�����
	�� ������
 ��� 
�
��
��� �

 ��
���
��
�� �� �
 ��������
 �
 ��� ���� ����

 ��� ��
����!����
 ���
�� ��� ��
���
��
�� ���� ���� ���� ��(������
�� ������ �� 	�
 ���������� ��� 
�
��
���
��
��� #����� ��� ����
� ����� ���
 �� ��� ��
�	�
 ��
�� �����
 ���	� ���

�
���
�	�
 ��
��� *�	�

��� �
 ��
�� �� ���
�	� ��� 	����	� ���� ��� �� ���

����� ��� 
�
���	� �����
 �� �� ������� �� ��������� 1� 	������
� ��� ����
�����
��� �� ��� ��
��� �

 ��� 
�
��
��� ��
��� ��� 
�����
	�� �
 
�
���	�
�� ���� �� ����
� ����� ���
 	�
 �� �
���	��
�

. 
���� 	�
�����
� �� ��� �
�
��	�� !�
�� �� ��
���
� #����� 9�55 �����������
���� 
����� �� 	�
 �� ���
 ���� ���� !�
�� �� � �

���

�
� �
����� 1� ���
�
��� !�
��� � ���� �
 ��� �
��� ��� �� !�
� 5 ���� ��� �
� � �����
�� �
 ���
���
�	� ������ �� !�
� 5� ���	� ���� 	��
�� ��� ���
�	� �
��� ��� ��� 
���
!�
�� ���� ���� �� ���� !�
� �
���� ��� ��	���
 �� 
��
� �
� �����

#����� 9�56 �

 9�57� ����� 	��������
� ������
 ��� ��
��� ���
 ������
�
� � �5> 
����� ���� �
 �
��� ��� ����������� �
 !�
� 5� ��� ���� ����� 	���

CC



9�6 @�
��� A����� ��� 4�
��
��� ��
��

0 500 1000
48

50

52

54

56

58

60

62

64

Time [s]

E
ne

rg
y 

[k
J/

s]

 

 

0 500 1000
14

14.5

15

15.5

16

16.5

17

17.5

18

18.5

19

Time [s]

 

 

0 500 1000
66

68

70

72

74

76

78

80

82

Time [s]

 

 

Eair
in

Eair
out

Eprod
in

Eprod
out

E
in

E
out

#����� 9�5>M ?
���� ����
	� �� ��� ��
��� !�
� ���������


Input

u1
u2

us y1
y2

Output

#����� 9�55M ��� ���������!�
� 
���� ���
 �
 ��� ��
���  � 
�
��
��� ��
��
	��������


C:



9 ��
�� *��
�

����� ��� ��
��� ����� ��	���
� ��� �
��� ��� ������������ ����� ��� ��	�


����� 	������� ��� ��
��� ���
 ����� ��� 	��
��� �
 ��� ���
�	� �����������
�

 �������� �
��� �� ��� !�
��

0 500 1000
0.195

0.2

0.205
Product moist [kg/kg]

0 500 1000
52.5

53

53.5

54
Product temp[°C]

0 500 1000
0.032

0.033

0.034

0.035
Air moist[kg/kg]

0 500 1000
80

85

90
Air temp[°C]

 

 
Nonlinear
Linear

#����� 9�56M @�
���  � 
�
��
��� �����
��� !�
� 5

0 500 1000

0.145

0.15

0.155

0.16
Product moist [kg/kg]

0 500 1000
46

46.5

47
Product temp[°C]

0 500 1000
0.0332

0.0334

0.0336
Air moist[kg/kg]

0 500 1000
85.9

86

86.1

86.2
Air temp[°C]

 

 
Nonlinear
Linear

#����� 9�57M @�
���  � 
�
��
��� �����
��� !�
� 6

.� �� 	�
 �� ���
 �
 #����� 9�56� ��� ��
��� �����
�� ��  ��� ������� �� ���

�
��
���� ���
 	������
� ��� 
�
���	� �� ��� ��
���� ��� 
�
��
��� ��
��
��� � ��� �

 �

�������� �
 ��� ���
�	� �������� �

 ������������ �����	�
�� ���� ���	� ��� ��
��� ��
�� ��� 
��� ��� ��� �������� �

 ����������� ��
����� �
 	���� �� 	�
���
�� ���� �� ��	���� �� ��� ���� ��� 
�
���	�� ���	�
�������!�� �����
 ��� ��� ���� ��	�

 �� ��� ���������
 $��� #����� 9�5'�

���
 �
���	��
� ��� �����
�� �
 !�
� 6 �
 #����� 9�57� �� 	�
 �� ����� �

� ����� ����� ������
 ��� ����
� ����� ���
�� ���� ����� �� ����	��
 ���


C;



9�7 ? ������
� ��� #����
� =���

�����
� �
 ��

 ��� ���	� ��� �����
� ���� ��� �
 ��� 
���� ��
��� .� ��
���� ������
�
 �
 ��	���
 6�7�9� ��� �����
� ���� �� ������ 
�
 ��
���� .

 ��
������� ���������� ��� �
H��
	� �� ��� �����
� ����� ��� �����
� ���� �� ���� �

$��� ζ(α) = 1' �

 ��� ���������
 ������� ��� ����
 �
 #����� 9�58 �

 9�59�
0��� ��� ����
� ����� ����� �� ������������� ��
�� ���	� 	�
���� ���� ���
�����
� ���� ��� � ����
� ���	� �
 ��� ��
���

1�	���� ��� ��
��� ��
�� �� �� �� ���
 �
 � �%&� ��� ����� �
 ����
� �����
���
� ���� �� 	����
����
 �� �
��������� �
 ��� 	�
������� $���������'� ���
����� ���� �� 
�
���	� �
 ��� ��
��� ��
�� �� �		�������� �
���� ��� 
���� ��
�� �� 	�
������
 ��	� ������ ���
 
��
�
� ��������� �� 	�
 �� 	�
	��
�
 ����
��� ��
��� ��
�� 	���
 ���������� ��� 
�
��
��� ��
�� �
 � 	�
���� �����	����

�
��

�
 ��� 
����� 	�
���� �� ��� 
�����

0 500 1000
0.195

0.2

0.205
Product moist [kg/kg]

0 500 1000
52.8

53

53.2

53.4

53.6
Product temp[°C]

0 500 1000
0.032

0.033

0.034

0.035
Air moist[kg/kg]

0 500 1000
82

84

86

88

90
Air temp[°C]

 

 
Nonlinear
Linear

#����� 9�58M @�
���  � 
�
��
��� �����
�� !�
� 5� ������� �
	��
�
� ��� 
�
�
��
��� �����
� ���� �
 ��� ��
�� $���� ζ(α) = 1'�

,�� "���	����! ��� )�����! 1���

��� ���	� �� ��� �����
� ���� �� ������ ���
 ���
 ����� �
� ��� ���
�	� �� ��
�� �� ���
� ��� 	�
 ��������� ����� ��� ���
�	� 	������ ��� 	����	�� ��������
	�
��
�� #����� 9�5C ����� ��� ��� �������� 	�
��
� �� ��� ���
�	� 
�	������
�� ��� ���
�	� �� ���
������
 ������� ��� ���������!�
� 
����� ��� ���������
!�
� 
���� ���
� �� ��� 	�������
� 
����� ���� 	�
��������
 �� ���������


������ �� ���

 �
 	������ C�

"
 D.*�>:E �� �� �����
 ���� ���
 ��� ���
�	� �������� 
���� ����� ���
	����	�� �������� 	�
��
�� 
�� ����� �
 ��� �����	� �� ��� ���
�	� �������

C<



9 ��
�� *��
�

0 500 1000

0.145

0.15

0.155
Product moist [kg/kg]

0 500 1000
46

46.1

46.2

46.3

46.4
Product temp[°C]

0 500 1000
0.0332

0.0333

0.0334

0.0335

0.0336
Air moist[kg/kg]

0 500 1000
85.9

86

86.1

86.2
Air temp[°C]

 

 
Nonlinear
Linear

#����� 9�59M @�
���  � 
�
��
��� �����
�� !�
� 6� ������� �
	��
�
� ��� 
�
�
��
��� �����
� ���� �
 ��� ��
�� $���� ζ(α) = 1'�

0 1 2 3 4 5 6
0.05

0.1

0.15

0.2

0.25

H
um

id
ity

 r
at

io
 [1

]

Product

0 1 2 3 4 5 6
40

45

50

55

60

65

T
em

pe
ra

tu
re

 [°
C

]

Zone output (0 is input for zone 1)

#����� 9�5CM %��� �� ��� � ����� ���
�	� ������ �� ��� ���
�	� �� ���
������

������� ��� 
�����
� !�
��� ��� ������ �
������ �

�	��� ��� !�
� �����

:>



9�7 ? ������
� ��� #����
� =���

�

 ��� ����������� �� ��� ����
 ������	��� ��� 
�� ���� ����������� �� ���

���
� ��
���� ���
 �
���	��
� ��� ���
�	� ����������� �
 #����� 9�5C ����
�
	����� �� ����������� �� ���

� ��� ���
�	� ���	��� ��� 	����	�� ��������
	�
��
� �� >�58D��G��E �

 ��� ���
�	� ����������� �
	������� #������� ���

��� 	����	�� �������� 	�
��
� �� ���	��
� ��� 
���
� ���� 
���
������ ���	� 	�

�� ���
 ���
 ����� �
� ��� ��	�

 
��� ��� � �� ��� ���
�	� ��������� ���	�
�� ������ �� ��� ���������
 ��������� �� ��� ���� ��� ���� ��� �� ��� �����
�
���� �������� ��� ���� ��� �� �����
 �� � 
�� �� ��� �����	� �� 
���
� �������

,
&���< .
 ����� ����
 ���� ��� ���� �

 �� ���� ��� ����������� 
��
	������ �6>◦C ������ ���	��
� ��� 	����	�� �������� 	�
��
�� "� 	���
 �� �����

���� ��� �����
� ���� �����
 �� � ���
 ���	��
 ������� �� 
��
�
� ��� 	����	��
�������� 	�
��
� ������ ���
 >�58D��G��E� .� ��
���
�
 �
 ��	���
 6�7�9� ���
�����
� ���� �� ���
�	� ���	��	� �

 �� 	���
 �� ���� ��� 	����
 
���
� ����
	����� �
 �

������ 
���
� ���������

:5



9 ��
�� *��
�

:6



������� 


���	 ����� ! ��
���� �
 �

 �"!#�
	 �������	!���� ���	�

���� 	������ ��
�� ��� ������ �����
��
 �
 ��� ��� ���� 	������� �� � ����
���	��	�� �����
� ����� � ���	��	 
���� �� �� �� ��
���
 �

 	�
������
�

��� 	�
 ���� ���� 
���� ���
 �
 ���� 	��� ���
� �� � ���������	�� �
�� ���
��� 	�
��������
 �� ����
 �
 ��������	 ���������
� �		��
�
� �� ��� ����������
�
 ��	���
 6�6� ��� 	�
 ��������� 
���� 	�
���� �� ��� !�
�� ����� �
� !�
�
���� ��� ������� ��� ���� �
����� !�
�� ��
	� ��� ���� P�������������P�

. ���������	�� ��
�� 
��	����
� ��� 
���� �� 	�
����	��
� ��� ��
�� ��
�
������� ������ 
�
��
��� �

 	�
����� �� %2?� ���	� ��� 
��	����!�
 �
 ���
������� 
���
���
� �������
� �
 
�
��
��� 32?�� A������ 
�
��
��� �������
���
� ��� ��
� �
 ��
�� �� �� ��� ��
�� �� ��� 
���� 	�
��������
� 0��� ���
 �����!����
 	�
���
� ε �

 
���
� ���� 	�� � ζ(α) ��� ����
� *���
� �����
��������
�� ���
�� ��� ���� ���

� ���	� ��� ���
 ����� �
 ��� ��
����!����
�
��� ��
�� �� ������� ��������
 ������� ��
����!����
 �

 ��
�� ��
�	���
�
�������
� �
 � ��
��� ��
�� ����� �
���� �� �� ���
 �
 �%& �����	����
��

4���� � ��
�� ���
�	�� � 	�
������� $�%&' �� 
����
�
 ��� ��� 	�
 ���������

����� ����
 �
 ��� 	�
���� ������ �����
��
 �
 &������ 7� ��� ��
	���
�����
�� ��� 	�
������� �� �����
��
 �

 +������
�

#�
����� �� ���� ���������
� ��� 
�
�� ��� ���������
� ��
��� ���� �
���
	�
�����
�
 �%&� �� �
��� �

 ������ 	�
�����
�
 �%& �

�� ��� �
H��
	�
�� 
���� �

 
�������
	��� "
 �

����
� %" 	�
���� �� ��� 
���� �� 	�
�����

�

 ��
�
� �

 ��� %" 	�
���� �� 	������
 ���� �%& 	�
�����

2�� �������������  ����  �
��������

0��� � 	�
 ��������� 
���� �� 
��
�
� 	�
�����
 �

 
��	����
�

:7



C &��� ���
� � &�
���� �� � *���F�
� ���������%��� 2����

0���� �������� 8���� ����� �� ����%

"
�������� ��
���
� �
 ������
� 	�
 ���� ���� 
����� 	����
��� �������
� �� �
��� ���
 ���
�	���
 ��
� ��� ���

�
� "� ��� ����� 
�	�
�
 ���� ��� ��
���
�
�� ���� 
����� 	���
 
�� �� ��		�������� �		��������
 ���� ��� ����� �
 ���
��
���
� ��������� 
� �����
 �
 D 2><E �

 D*��>;�E�

*�	�

��� � ����	� ��� ��
� ��� ������
� 
����� ���� ����
 �� ��� ��
���
�
���������� ��� 
���� ���
 �
 D*��>;�E� ����
 �� ��� ���������� ��� ��� 	�
�
��������
 �� ���� 
���� ��� 	�
��
���
 ��� ������ �

 ����
 
�� 
���
������
��� ���� ����
���� �� ��� ��
�� �

 	�
������� 
� �����
 �
 ���� ������� @�����
�
 �����	���� 
���� ��� ���

� 0��� ��� ��	���� �� ��� ��������� ���� 	���
��
� ��(����
 �
 ��
�� �� ������ ��� 
���� 
�	���
�����
 
��
�
 �� 	�
�����
��� ��
�� ��������� ���� 
���� ��� ���� 
��	��
�
�

#�
����� �� ��� 
�	�
�
 ���� �
 ��
�� �� 	������� ��� ��
���
� �� � 	�
 �����
���� 
���� �
 ��� �����
�
� ��������� �� �
 �� ������ ���
�
�� �� 4�4K� �
���������	�� 
���� ��
 �� �� ��
���
� #������� ���
 
�	�
�
� ���	� 
����
	�
��������
 �� ���� �� ��� 
�	�
�
 ���� � ��������	 
���� ��� ��� ������	�

� �� � 
���� 	�
�����
� �� �� ���� !�
��

� ��� � ������������� 	�
��������


� ��� 	���� !�
� ���

�����

� ��� � 	���� ��������� ������


� ��� �
��
 ��� ������������ �

 H��� �
����
� ��� !�
���

� ��� 	�
���
� ���� ����
 �

 ��� H���

� �� � 
���� ����� ��� ���
�	� �� � �
�� 
���������
 ���
� ��� 	�
 �����
�����

0���� ���4����9��%� ����� -
�������%���

.
 �����������
 �� ��� 
���� 	�
��������
 �� ����
 �
 #����� C�5� ��� 	�
 �����
���� 
���� 	�
����� �� � ��� !�
��� �

 ��� � ������������� ��
	���
� "� ��� 9
�����
�� ��� �
���� $�AO�'� �

 ��� ���
�	� �
��� �� �� �
 �� ��� ���
�	���

���	����� ����� �� ��� 
���
�� .�� !�
�� ���� ��� ��	�����
 �� !�
� 7 ��� ��
���
���� !�
��� �

 ��� ��� H���
� ������� ��� ���
�	� ��
 �
 !�
� 7 �� ������� ���
���� !�
� 8� .� ��� ��!�
� �

�	���� �
 ��� ������ ��� 
���
���
� �� !�
� 5�6�9
�

 C ��� �(���� ��� 
���
���
� �� !�
� 7 �

 8 ��� �(��� �

 ��� ��
���� ���

����� ��� ��
���� �� ��� !�
�� 5�6�9 �

 C� #������� �
 ��
�� �� 	�
����	� �
���� ��������	 
����� ��� ���
�	� ��
 ������� �
 ��� ������ !�
�� ��� ������
���
 �
 ��� ��� !�
��� ���� �� � 
����� 	�
��������
 ��	���� �� ��� ��	� ����
�����
���
 ���
�	�� 	�
 ������� �� ���	��
 ������ ���
 ��� ���
�	�� �������
	�����
� �� ��������� ���	����� ���� �
	����� �� ���
�	� ��
 ������ �
�����
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��
��� ����
���
 ���� �
 ��� ������ ��
 ���
 ��� ��� ��
� ��� ��
 ���	�
����
!�
� 
���
���
� �

  ������ !�
� ���������� ��� �����
 �
 ����� C�6�C�8�

Product output

Product input

1 2

56 4

3

Product mixing

External independent gas inputs

#����� C�5M "����������
 �� ��� 	�������
� 
���� 	�
��������


"� �� ������
 ���� ��� �
��� ��� � 
���	� ���	� �
 ��� 
����� ���	� ���
�
���� ��� �
��� 
�
���	� ��� 
����	��
� "
��� 
�
���	� ��� ��� ����� 	�
����
����� 	�
������
� ��� �
��� ��� ������������ ��� ��� 
�����
� !�
��� ���� ��
� �����
���� ���������
 �� ��� ���� 	�
���
�� �� ��� ����� 	�
���� ����� ���
��	� ������ ���
 ��� ������
� ���� �
 ��� �%&� 1��
���� ��� �������� �� �
����
 ���� 
�
���	� �

 	�
 ��������� ����
 �� 
����	��
 ���
 ��
���
� ���
	�
 ��������� 
����� 2������ �� ��� �� �
	��
� ��
��� �
��� 
�
���	� �
 ���

���� ��
��� 	�
 �� ���

 �
 ��	���
 8�9�

,
&��� < *��������� �
	��
�
� �
��� 
�
���	� �
 ��� 
���� ��
�� ���� �� �
������ �� 
� ���	� �� ���� #�� �������M /� �
 ���� ��� �
��� 
�
���	� 	�
�����

�� %"2� 	�
������
� ���� ���
��� ���� ���� 	�
���
�� Tb ≤ 1s� �

 ��� ������
�
���� ��� ��� 
��	���� 	�
 ��������� 
���� ��
�� ��� Ts = 60s� ���
� ����� ���
��
�� ��
�	���
 ��	�
�(�� $����
	�
 ����
����!����
'� � ��
�	�
 ��
�� �����
��� �
��� 
�
���	� ��� �����
���� �
	��
�
� ����
 �� ������������� ��� ����
�� � ��
�	�
 ��
�� ����� ��� �
��� 
�
���	� ��� 
����	��
�

0���� ������� ����
�������: �(� ��� ����
�	�����

���
 	�
��
���
� ���� ���������
�� ����	���� � ������� �
 	�
 ��������� 
���
���� �� ���� ������ 	���� �
�� 	�
��
������
� #����� ��� ����������� �� ��� ���
������� 	�
 �� �������
 �� ������ ��� ����������� ��
����� ���	� 	�
 ��
������ ��� 	����� 	������
 �� �������� ��
����� . �������� ��
��� �� ����

���� �� ���� �� ����
�� �� "
 ��
� 
���� �
���������
�� ����� ��� 
� ��������
��
���� �� ���� ���� ���
� ���� ��� ���
�	� �������� �� ��������
G�������

�� ��
����� �����
�
� ���� �� ��� ���
�	�� .

 ���
 �� ���
� �����
� ��	�
�� ���	����	��� �� ��������
� ��� �������� �� �������
� ��� ����������� �


������
� ��� ���
�	�� #������� �� �� 
�� 	����
 �� �� � ���
�	� ��������
���������
�� �
��
� ��� 
����� ���
�� ��	���� �� ��� ���� �������� 	�
��
�
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�� ��� ��� ���
 ��� 
���
�� "
 �

����
� �� �� ���
 �� ������� ���
�	� �����
�������� ����� ����� �
 � 	�
 ���������� ���� 	�
 ���
 �� � ��
��� ��������
���������
� �� ��� �

 �� ��� 
����� ���	� ������� � ��
� ���� 
���� ����
�
��� �� �������

Product output

Product input

1 2

56 4

3

TTTT

TT TT TT

MT

TT

External gas inputs

#����� C�6M %J"2� ����������
� ��� � ������� ���������
��� ��I�����������
���
�������� ��I�������� ���
��������

#�� ��� 	��� ���
� 
����� ���������
�� ��� 
��
�
 �
 ��� ��� ��������
���� ��	� �� ��� !�
��� ��	��� �� !�
� 8� ��	���� �� ��� ������������� 	�
�
��������
� #������� ���������
�� ��� 
��
�
 �
 ��� ���
�	� �������� �


����������� �� ��� �

 �� !�
� C� ��� ���
�	� ����������� ���������
� ��

��
�
 �
 ��� �%& �
 ��
�� �� ���
���
 ��� ���
�	� ����������� 	�
�����
��

���
� ��� 
���
�� #����� C�6 ����������� ��� � ������� ���������
�� �
 ���

�����

��� �
���� �� ��� 
���� ��� ��� ���
�	� �
��� �

 � � ��� �
����� ���
���� H�� �� ��	� �
��� �� ������
 	�
���
�� �

 ��	� �
��� �� 
��	����
 ��
���  ��������, ����������� �

 ��������� . ��������	 ���������
 �� ���� ���
��� ������������ ��� ��� ��
�������
  ��������� ��� ��� �������� �� ������

�� �� ������  ����
� �

 �	�� �� � 
�������
	� ��� ��� 
����� #����������� ���
�������� �

 ����������� �� ��� ���
�	� �
����
� ��� 
���� ��� �� �
 �� ���
�������� ��	���
� �� ��� ���
�	���
 ���	���� �

 ��� ���� 	�
��
���
 
������
��
	��� ����� C�5 �������!�� ��� ���������
��� �
���� �

 
�������
	���

,
&���< ���
 ��
���
� � ��
��
� 
����� 
��
�
� ���	� 
�������
	�� �
���	��� �� ���+�	��
 �� �� 
�� � ��������������
 ����� "
 �%& ��� ��������
�� ��
� �� �������� ����� 
�������
	�� ���	��
� ��� 
���� ����� ? �
 �� ���

�������
	�� �����
 �
 ����� C�5 	�
 �� ��������
 ���� ���� �		���	�� �� 
���

:C



C�5 &�
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=������
 ��%
 $
����%��
�

gT1,out ���������
� 3����� ��� ������������ !�
� 5

gT2,out ���������
� 3����� ��� ������������ !�
� 6

gT3,out ���������
� 3����� ��� ������������ !�
� 7

gT5,out ���������
� 3����� ��� ������������ !�
� 9

gT6,out ���������
� 3����� ��� ������������ !�
� C

pT6,out ���������
� 3����� ���
�	� ������������ !�
� C

α6,out ���������
� 3����� ���
�	� ��������� !�
� C

gT1,in &A "
��� ��� ������������ !�
� 5

gT2,in &A "
��� ��� ������������ !�
� 6

gT4,in &A "
��� ��� ������������ !�
� 8

gT5,in &A "
��� ��� ������������ !�
� 9

gT6,in &A "
��� ��� ������������ !�
� C

pT1,in 2�������
	� "
��� ���
�	� ��������� !�
� 5

α1,in 2�������
	� "
��� ���
�	� ������������ !�
� 5

γ1,in 2�������
	� "
��� ��� ��������� !�
� 5

γ2,in 2�������
	� "
��� ��� ��������� !�
� 6

γ4,in 2�������
	� "
��� ��� ��������� !�
� 8

γ5,in 2�������
	� "
��� ��� ��������� !�
� 9

γ6,in 2�������
	� "
��� ��� ��������� !�
� C

����� C�5M 2���� ���������
��� 	�
������
  ��������$&A�' �

 �
��� 
������
��
	���
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�� ����� ������ �

 ��	��
� 	�
���� �� ��� 
����� ��� 
�������
	�� 
��
�

	�
 ��� ������� �� 
��������� ��	���� ������ � �� ����� �
�
��
 
�������
	���
#����������� ���
 
��
�
� 
�������
	��� �� �����
 ���� �� 	�
��
���
 ���	�

�������
	�� 	���
 	����
���� ��� ��
�� ������ ���� ���	�� ���� "
	����� ��
��������
	� ��� ���� ���
 ����� �
 ���
 �
	��
�
� ��� ��������
 
�������
	��
�� ���
 
�������
	�� �
 ��� ��
�������
  ��������� ���� ����� ���������� �



�������
	� ��
��� �� ���

 �
 ��	���
 7�8�:�

0���� ����� ��� ����
� 
���������

��� ���
�	� �� �� 
���
 �� ��� ���
 �������� *��� �� ��� ��
��� ����������
���
 	�
 �� ���

 �
 �� �
 ������� ����� ������ 	�
 �
�� �� �
�
����
 ��
��������
�����
 �
 ��	� �����	���� 
����� 1�	���� ���� ������ �� 
�� 
� ���

�� � ��
��
� 
����� �
 ��
�� �� �����
 � ��������	 ���������
� ��� ��+����� ��
��� ��
�� 	�
���
�� ��� ���

 �
 ��� 
���� �

 ���
�	� ��������
 �
 D*��>;�E�
����� C�6�C�8 ����� ��� ���������� ���
�

#������� �� �� ������
 ���� ��� ���
�	� �� �� 
���
 �����
 
�� ��	��

� ����������� �� C> ◦C� 
���
� ��� 
���
�� ������������ ��� � ���� ����
����� ��� 
�������
 (������ �� ��� ���
�	�� "
 �

����
� �
 ��
�� �� � ��

���� ����������� ���
��
�� �����
 ��� ���
�	�� ��� ���
�	� ����������� ����
�����
 
�� ��	��
 >�>>9◦C/s�� =���� ��� � ���� ��� ���
 �� ����
��
� �


��������� ����	����� 	��
��� �����
 ��� ���
�	� �������

�%� ��� �� �
���� ���� ��� &'◦C �����
�
�� 
� �������� 	��� �����
�		� ���� ��� �
�����

���� �����
���
� 
� �� &(◦C� ��� �����
�
�� 
� ������ ��
� 	�� 
� �
��
 ��
 ��� �����
�
��
�� �� ���
)� 
� ��� �#$ 	���
� %� ����
 ��
��� �� �������
��� ��� �����
�
�� �����
	
�
�� ��
��� �#$�

���� �����
���
� 
��� �����
�
�� �� '�''(◦C/s 
� ������ ��
� 	�� ��
 ��� ��� ���� 
�����
�� ��� �����
���
� �����
�
�� 
� ��������
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=������
 =���
 $
�
&�����
� $
����%��
�

αcrit >�58 kg/kg &����	�� �������� 	�
��
�

cPW 866> J/kg K *��	��	 ���� 	���	���� ����� $7:9)'

cPS 6>>> J/kg K *��	��	 ���� 	���	���� ���
�	� $7:9)'

cPV 5;<> J/kg K *��	��	 ���� 	���	���� ����� $7:9)'

cPA 5>>> J/kg K *��	��	 ���� 	���	���� .�� $7:9)'

h 69 J/s m2 K 0��� ���
���� 	���	��
�

Mg 28.97 × 10−3 kg/mol ����� ����� 
�� ���

Pa 5>5769 Pa .���������	 ��������

T0 6:7�59 K =�����
	� �����������

Ps0 C�55 hPa %������ �������� �� T0

R ;�588:6 J/K mol K
� ����� ��� 	�
���
�

Rv 8C5�9 J/kg K *��	��	 ��� 	�
���
�� �����

β >�C65<: 5 *��	��	 ���� ������ �����G
�� ���

ε 5>> m2/m3 A�����!����
 ���� ��� ���
�	�  �����

λ0 669:>>> J/kg @���
� ���� ��  �����!����


ρs C>> kg/m3 ���� 
�
����� ���
�	�

ρg 5�>>< kg/m3 ���� 
�
����� ���

����� C�6M ��
�� 	�
���
��� 	�������
� 
����

=������
 =���
 $
�
&�����
� $
����%��
�

Δx1 6 m &�
 ��������� ��
���� !�
� 5

Δx2 6 m &�
 ��������� ��
���� !�
� 6

Δx3 8 m &�
 ��������� ��
���� !�
� 7

Δx4 8 m &�
 ��������� ��
���� !�
� 8

Δx5 6 m &�
 ��������� ��
���� !�
� 9

Δx6 6 m &�
 ��������� ��
���� !�
� C

Δz1 >�>9 m %��
�	� ���	� ������� !�
� 5

Δz2 >�>9 m %��
�	� ���	� ������� !�
� 6

Δz3 >�>9 m %��
�	� ���	� ������� !�
� 7

Δz4 >�>:9 m %��
�	� ���	� ������� !�
� 8

Δz5 >�>:9 m %��
�	� ���	� ������� !�
� 9

Δz6 >�>:9 m %��
�	� ���	� ������� !�
� C

Δy >�C m &�
 ��������� ��
��� !�
� 5�C

����� C�7M &�
����  ����� 
���
���
�� 	�������
� 
����
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=������
 =���
 $
�
&�����
� $
����%��
�

Δt1 9 D��
����E ����
���
 ����� !�
� 5

Δt2 9 D��
����E ����
���
 ����� !�
� 6

Δt3 5> D��
����E ����
���
 ����� !�
� 7

Δt4 59 D��
����E ����
���
 ����� !�
� 8

Δt5 :�9 D��
����E ����
���
 ����� !�
� 9

Δt6 :�9 D��
����E ����
���
 ����� !�
� C

vx,t >�>>C: Dm/sE  ���	���� ��� ����

vx,b >�>>88 Dm/sE  ���	���� ������ ����

vz,1 >�6759 Dm/sE  ���	���� ���� !�
� 5

vz,2 >�6759 Dm/sE  ���	���� ���� !�
� 6

vz,3 >�5;5< Dm/sE  ���	���� ���� !�
� 7

vz,4 >�5;5< Dm/sE  ���	���� ���� !�
� 8

vz,5 >�6759 Dm/sE  ���	���� ���� !�
� 9

vz,6 >�6759 Dm/sE  ���	���� ���� !�
� C

����� C�8M 4���
�� ����
������� ��������
��  ������ 	�������
� 
����

;>



C�6 1���
�
� ��� ��
��

2�
 �	�����! ��� �����

.���� �
 �����	���� 	�
 ��������� 
���� ��� ���
 ���

 �

 ��� 	�
��������

��� ���
 �
�
����
� ��� 
��� ���� �� �� ����
 ��� ��
���

#����� � 
�
��
��� ��
�� ��� ��� 
���� �� ����
� ���
�  ������ 
�
��
���
���������
� ��� 
�
� �
 ��
�� �� �� ��� ��
�� �� ��� �	���� ���
�� 0��� ���
 �����!����
 	�
���
� ε �

 
���
� ���� 	�� � ζ(α) �� �
�
����
� 3�������
��
���
�� ��� ��� ���� ���

� ���	� ��� ���
 �
 ��� ��
����!����
 ������ 4���� ��
��
����!�
� ��	� !�
� ����

 ��� ����
� �����  ����� �����
�
 �� ��� 
�
��
���
���������
� � ��
��� ��
�� $8�9<' ��� ��	� !�
� �� �����
�
M

ẋj = Ajxj + Bjuj $C�5'

0��� j �� ��� !�
� 
������ uj �� ��� �
��� �� ���
�	� �

 ��� �� ��� !�
��
���	� 	�
 ������ �� ���
�����
 ���� �
����� !�
�� �� �� 	���
 �� �
 �����
��
�
��� ��� ��� 
����� #�� ���� 
������ �� ��� !�
� ����	����� ��� ��	���
 8�7�
#�� ���� �������� �� uj ��� ����

�� .�7�

0���� +��
��
���� ��� ���4����9��%� ����%

1� ���
� ��� ����	���� 
� �����
 �
 D 2><E� ���	� �� �������
 �
 ����

��
.�7� ��� ��
��� ��
�� ��� ��� 	�
 ��������� 
���� ��	����M

ẋ = Ax + B′u′

z = Cx
$C�6'

�����

A =

⎡
⎢⎢⎢⎢⎢⎢⎣

A1 0 0 0 0 0
B2Φs A2 0 0 0 0

0 B3Φs A3 B3Φg 0 0
0 0 B4Φs̄ A4 0 0
0 0 0 B5Φs A5 0
0 0 0 0 B6Φs A6

⎤
⎥⎥⎥⎥⎥⎥⎦ $C�7'

B′ =

⎡
⎢⎢⎢⎢⎢⎢⎣

B1Bs B1Bg 0 0 0 0
0 0 B2Bg 0 0 0
0 0 0 0 0 0
0 0 0 B4Bg 0 0
0 0 0 0 B5Bg 0
0 0 0 0 0 B6Bg

⎤
⎥⎥⎥⎥⎥⎥⎦ $C�8'

C =
[
C1 C2 C3 C4 C5 C6

]
$C�9'
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����� Cj �� ��� ����� �����	���
 ������ �� !�
� j� �

 �� �
 ���� 	��� 
��
�

�� ��� �������
� �����	��M

C1 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0 0 0 0
0 0 0 0
0 0 0 Cg

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 Cs 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

C2 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 Cg

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 Cs 0 0
0 0 0 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

C3 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 Cg

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 Cs 0 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

$C�C'

C4 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 Cs 0 0
0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

C5 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 Cg

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 Cs 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

C6 =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

Cs 0 0 0
0 Cs 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 Cg

0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
$C�:'

����� ��� �����	��AAAj� BBBj � BBBs� BBBg� ΦΦΦs� ΦΦΦs �

 ΦΦΦg ��� 
��
�
 �
 $8�C>'� $8�C5'�
$.�C6'� $.�C8'� $.�9<'� $.�C>' �

 $.�CC' �����	� ���� ��� ������ �����	��
CCCs �

 CCCg ��� 
��
�
 �
 $.�;6'�

��� 
���� ��
�� $C�6' �� � ������ ����� ����� ���� �
���� �

 
�������
	��

;6



C�6 1���
�
� ��� ��
��

�� � ���
 ���	��
 �
 ��� �
���  �	��� u′M

u′ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

α1,in

pT1,in

γ1,in

gT1,in

γ2,in

gT2,in

γ4,in

gT4,in

γ5,in

gT5,in

γ6,in

gT6,in

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

$C�;'

#������� ��� ������  �	��� ! �� �� �
 ��

z =
[

y
ye

]
$C�<'

����� ��� �����
�� �
 y ��� ��� �������
 ������� �� ��� ��
��� ��� �����
��
�
 ye ��� ��� ������� �� ��� ��
�� ���	� �� 
�� �������
� ��� ���� �� ��������

�� ��� )����
 ����� �
 ��� �%&� @����� 	�
�����
�� ��� ���	�
 �
 ��� �����
��
�
 ye �
 ��
�� �� ���� ��� ����������� �� ��� ���
�	� ����� ���� �� ��� y �


ye �� ����	����
 ��

y =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

α6, out
pT6,out

gT1,out

gT2,out

gT3,out

gT5,out

gT6,out

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

ye =

⎡
⎢⎢⎢⎢⎣
pT1,out

pT2,out

pT3,out

pT4,out

pT5,out

⎤
⎥⎥⎥⎥⎦ $C�5>'

0���� �������� ��� +!����% ��������)����� ����%
����

���
 ���������
� ��� ������ ���� ��� #2.� � 
��	����!����
 ���������
 �� ���
�
"
����� ���� ���������
 �� �
�
���� ��� ��	���� �� ���
���� ���������
� ��� �����
�����
 �� ������
� ��� ����� 
����� �� ������ �
 ��� ������ ��� � ����
� 	�����
�����
 ���� ��� ���������
 
������
 �

 ������ ����� �� ��� ���
����� ���
���������
� ��������
 �
 ���� ������ ��� ������
 �� ��� � ������� ������ �
 ���
���
������ ��� ��
�� ��� ��������
 ���
� �
	23�� �
 �.�@.1� ��

�
� ���
	������ ��

��� : ?
�������� C8����� ��� ����� 
����� �� ������ ���	� ����

�%���	 ��
� * +�� $#, #-.'' / *�(012� *�(312�� 314 ++"* 
��
��5� 54 "*''6�� .�6�'�(*6� 7�����
� ���8��� ����9 $���
�	 7����� ���	��: ;-�3
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�������� �� �������� �������  ������ ������ ������
�� ��� �������������
25 × 25 × 4 × 6(N × M × STATES PER ZONE × ZONES) = 15000� "�
 ������ ������ ������
� �		����
 ��� ���������
 
������
 �
	�����
 �� ������
���������  ������ ������ ������
� ���� �� � ��
�
� .���� ��������
� ���

���� ���� 
�����
� ���������
�� �� ��� ���

 ���� ��� ����� 
����� �� �������
�����
��� �����
 
�� ��	��
 M ×N ≤ 600 ��	���� �� ��� ������� ���������
��
"
	�����
� ��� ����� 
����� �� ������� �����
�� ��� � ���� �� �� 	����
  ������
������ ������
��

"
 #����� C�7 ��� ���� 
�
��
��� 
���� ���������
 �� ��������
 ���
� �� �
���� 
�����
� 
��	����!����
 ���������
�� $"
��� 	�
��������
 ��� ���
 	����

������������ �

 �� 
�� ���
 ������� �
 ���� ������'� 0��� �� ���� ���
�� 	�
 ��
����� �
M

� ���
 N ������	��� 20� 	�
 ����
	� �� 	����� ���� �����
 �� ��� ���
�	�
������������

� M �����
 �� ������ ���
 6>� ��� 	�
 ����
	� ���� �����
 �� ���
�	�
������������

� ���
 M ������	��� 20� 	�
 ����
	� �� 	����� ���� �����
 �� ��� ���
�	�
���������

� N �����
 �� ������ ���
 6>� ��� 	�
 ����
	� ���� �����
 �� ���
�	�
���������

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
40

45

50

55

60
Product temperature, zone exits

1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
0.05

0.1

0.15

0.2

0.25
Product moisture, zone exits

5 5.1 5.2 5.3 5.4 5.5 5.6 5.7 5.8 5.9 6
57

57.2

57.4

57.6

57.8

58
Product temperature, zoomed

5.75 5.8 5.85 5.9 5.95 6
0.061

0.0615

0.062

0.0625

0.063

0.0635

0.064
Product moisture, zoomed

 

 

5x5
10x10
20x10
30x10
10x20
10x30
20x20

#����� C�7M 2���� ����
��������� ��������
 ���� 
�����
� 
��	����!����

���������
�$N × M'�
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C�6 1���
�
� ��� ��
��

1�	���� �
	�����
� N ��� � 6> 
��� 
�� ���
��	�
��� ���	� ��� ���
�	�
������������ �

 ��	���� �
	�����
� M ��� � 6> 
��� 
�� ���
��	�
��� ���	�
��� ���
�	� ��������� ���� N �

 M �����
 �� ��� ���� ��!�� �� ����� ��� ���
	�
����  ����� 
���
���
� $����� C�7' ���
 �
 ���� 	�������
�� #������ ��� �
���� ���������
 
������
 �

 ��
�� ��
�	���
 
������
 N = 20 �

 M = 20
�� ���
� � �
 ������ �� �� �������� �� �������� ��� ������ ���� ��� ���������

25 × 25�

,
&���< "� 	���
 �� �����
 ���� !�
�� �� 
�����
� ��!�� �����
 �� � 
�����
�

��	����!����
 ���������
�� 1�� ��� �������
�����
 ����� ��� !�
�� ��� ���������

��	����!�
 ���� ��� ���� ���������
�

0���� +��!%�'���� ��� ����%

1�	���� ��� ��
�� �� �� �� ���
 �
 �
 �%& �����	����
� ��� 	���������
��
��(������
�� �����
 �� ��������	 ��� � ���� �������
�����
� 1�	���� ��	� !�
�
�� ��� 
���� ��� 5C>> ������� ��� 	�
 ��������� 
���� ��
�� $C�6' ��� � �����
�� 1600 × 6 = 9600 �������

"
 ��
�� �� ��� ��� ��
�� �
 �
 �%& �����	����
� ��� ��
��� ��
�� $C�6'
��� 
��	����!�
 �

 ���
 ��������
$��
�	�
' �� ������	
 �	��
����%������ ���

��	����!����
� ���	� ����� ���	� ������ ��� ��
�� ��
�	���
 ��	�
�(��� �� ���
���� ���� �����
 ��
�� ��
�	���
� ���� �� ��	���� ��
�� 
�
���	� ���� ����
	�
���
�� ��	� ����� ���
 ��� ������
� ���� ��� ���� 
���
� ��� 
��	����!����
�
�

 ���������� ��� ����� ������ �� ��� ��
�	�
 
��	����!�
 ��
�� ���� �� �����
���
 �� ����
 �� ������� 
��	����!�
� ������ ��� ��
�� ��
�	���
� ��� 
����
��
�� $C�6'� �� 
��	����!�
 �� ��� �����
 �2
 �
 �.�@.1� . !��� ��
��
���
 ���	� ������������
 ��� ���
� ���� ���
� ���� ��� 	�
���� �
���� ���
������
 ���	����� 	�
���
� � �� ��� ������
� ���� $60s'� ��� ���� O���	�O
���
� ���� ��� ���� �����
��� �� ��� 	�
��
���� �

 
��	����!�
 ��
��� ����

���	� ���	��� ��� � �����	��� �
���� ���� 
����� ����� $���	�' 
��	����!����

	�
 �� ���

 �
 D&��<<E� ��� 
��	���� ��
�� 	�
 
�� �����
 �� ��

xk+1 = Adxk + B′
du

′
k

zk = Cdxk

$C�55'

1����� 
��
�
� � 
�������
	� ��
��� ��� 
��	���� ��
�� $C�55' �� ��
�	�

�� ������	
 �	��
����%������ "� 	�
 �� ���
 �
 �(�����
 $7�57'� ���� � �
 ������
��� D ������ �����
�
 �� ��
���
� �� � !����������� ��� ��
�	���
 �����

�������� � 
�
�!��� ��
�	�
 Dr ������� ��� ��
�	�
 
��	���� ��
�� �� 
��
�� �
 ��

xr,k+1 = Arxr,k + B′
ru

′
k

zr,k = Crxr,k + D′
ru

′
k

$C�56'

��� ��
�	�
 ��
�� �����
�
 �� ����
	�
 ����
����!����
� �� � ��
�� �����
��� ������ �� �
� ������ ���	� �
 ��� �
���G������ ���� ��� ��� ���� �
� ���
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����� �� ������ ���	� 	�
 �� ���� �
 �� 
���

�
� �� ��� 	�
��������
 ��
��� 
����� ���� ��� 	�
��������
 ���
 �
 ��� 	��� ���
� 
����� ��� ��
��
���� ��
�	�
 ���� <C>> ������ �� 565 ������� ��� ������
	� ��� ��� 0�
���
��
�����  ����� �� 10−7� ���� ����� ����
	�
 ����
����!����
� 	�
 �� ���

 �

��	���
 7�7 �� D*%>9E�

,
&���< *�
	� ��� ����
	�
 ����
����!����
 �

 ��� !��� ��
�� ���
 
���
	����!����
 ���� ���� ���� 	�
����
� ���� ������� 
������
�� ��� ��
�� ���
�	������ ��
�	�
 ��� ����� �� ����
	�
 ����
����!����
� 1� ��
�	�
� ������

��	����!�
� ��� ������� ��� 
��	����!����
 
������
 ��� 
��������� 	������

�� ��� �
��
�	�
 
��	����!����
 
������
� ��� �
�� ����
	�
 ����
����!����


������
 �� ��� 
��	���� ������ ��� ���� 
��������� 	������
 �� ��� �����

0���� ������� ��� ����
�	���� ����%

��� 
���� ��
�� $C�56' �� 
�� ������	����
 �
 ��
�� �� �������� ��� 
������
��
	�� ���� ��� ��
�������
  ��������� ��� 
���� �� 
�� �� �
 ��

ẋr,k = Arxr,k + Bruk + Brdk

zk = Crxr,k + Druk + Erdk

$C�57'

����� ��� �
��� u �

 
�������
	� d  �	��� ��� 
��
�
 ��

u =

⎡
⎢⎢⎢⎢⎣

gT1,in

gT2,in

gT4,in

gT5,in

gT6,in

⎤
⎥⎥⎥⎥⎦ d =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

α1,in

pT1,in

γ1,in

γ2,in

γ4,in

γ5,in

γ6,in

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

$C�58'

0���� ��� B �

 Bd �����	�� �� �����
�
 �� ������ �������
� �

 ����
���
�
�� ��� 	����
 �
 B′� "
 ��� ���� ���� Dr �

 Er ��� �����
�
 �� ������
�������
� �

 ����
���
� �� ��� 	����
� �
 D′

r�

0���" ����� +�����9+����
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� ��� ��� ��� @���
���� ����� �� �����
�
#����� ��� ��
��� ��
�� ��� 
�� ����� ����� � �
 ����� ��� ����
	�
 ����
����
�!����
� ���� ������
 ���� ��� ����� �� ��� ����� �� 	���
 
�� �� �����������
	����
� *�	�

��� ��� ��
�	�
 ��
�� ��
 
� �����	���� ����	���� �
 ��� ������
������� ���	� ��
� �� 
��	��� �� 	����� ���	� ����� �� �� ��

��� 	���	� �� ��������� ��������� ���� ���
 ��� )����
 ������ ���	� �
��

���

� ���� ��� ������ �� 
���	������ ���� ��	���
 7�8�:�6� #����������� ��
���
� ��� )����
 ����� �� �
 ���������� ��� ��������� ����� ��� 	��	�����

���
� ��
�
� �����	��� ���	� �� ���� ��������������
� ���
 ���	�
� ��� �����

���	����

).�.�.� #��� @%��&�4���
� ,
����


��� ���
 ������!����
 �����
� �� ��� �%& 	�
���� �� �� ���� ��������� �����
��	� ������� 	�
�������� �� ������

� *��������

� 3�������!����
 �����������

� &�
���� ����������

� .�������� ��	��
	�

"
 ��
�� �� �

�	� ��������� �
 ��� 	�
�������� �
 �
�
��� ����!�
 	�������
 ��
���
� ��� �
�
��� ����!�
 	�������
 �� ��� �
 �� 	�����
� �
 �
��� ����!�
�
����� � ��
��� (��
����	 ��������� $@B=' �� ���
 ����� ��� �
��� ����!�
�
��� ��� �� ��� @B= �� ����
 �
 ��� ���������
 ���� ��� ������ �� �����

��� 	�
�����
�� �� ��� �

 �� �
��� ����!�
� ��� �
�
��� ����!�
 	������� ��
�������
��
 �� ��
���!�
� ��� 
����
	� ������
 ��� ������ �

 ��� ��������
	�
��
� �� ���� ���� k = Hu� "� ��� ���
�	��
 
����
	� ������
 ��� ���
�	�
�������� 	�
��
� �

 ��� ������ �� k = Hu �� ����� ���
 ��� 	�
������� ���� ���
���� �
��� �
 ��
�� �� �
���� 	�
 ����
	� �����
 ��� ������ ��� ��� ���
�	�
�������� 	�
��
��

"� ��� 	�
 ��������� 
���� �� �� ������� 	���� �� ��� 	�
�����
�� �

 � 
���
�����
	� ���� ���� 	�
�����
�
 ������ �����
� ��� �������� �����
� ���
 ���
	�
������� �����
 ����� �� ���� �� �

 � �������
 �

 	�
���� ��� 
���� �
 �� ���
�������� �����
 ����
� �� �
���� ���� � �������� �������
 ������ ����� ��� ���
�%&� ���� 	�
�����
�� �
 ��� ���� �� ���	�  �������� ��� �
���
�	�
� ����� �� 
�
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C�7 �%& #�
	���
�����

�������
� �
 ��� ���	� 	�
�����
��� ���	� ���
� ���� ��� 	�
�����
�  �������
�
���� �� � ��� ���� 	��� �
 ��� ������!����
 	��������

1� ���
� ������ �
���� �� ������!����
  ��������� ��� B%���� �� 
�����	����

�	������ ��� 
����� ��  �������� �� 	��	������ ���� �� 
�� ������ ��	��
��
�

 
���

� �
 ��� 
����� �� ��� ������!����
 �������� "
 ���� 	���� ��
	��	�����
� ��� �����	�� �
 $7�:C'� ��� ������ �� �
 ��	��
� ��������� ������ �
�� ��� ������!����
 ������� ����� ��� ������!����
  �������� ��� ���� ������
������ �

 �
�����

0���� ������%%�� 
���������

).�.�.� 	�
�����
� ��&
���&


"
 ��
�� ��� ��� �%& �� �	��� � �
 ������� �
��� ��(��
	�� ��� 	�
������� ����
���
�	� ��� ������ 
�
���	� �� ��� ���	���� ��� ������ ���
�	���
 ���������
�����
 �� 	����
 �� ���� �� ����
 	������ ��� ���
 
�
���	� �� �
 � ���� �

��� ������� �
��� �� ��� 
����� .� �� �� �
��
� ��� ����� ����
���
 ���� �� ���
���
�	� �� 9> ��
����� ���� ���
� ���� �� ��� 	�
������� ���
�	� ��� ���	���
�� ����� 9> ��
���� ����
 �
 ����� ��� ��
�� 
�
���	� ��� 	������
 �

 �

������� �
��� ��(��
	� 	�
 �� 	��	�����
�

#������� ���
 	�����
� ��� ���
�	���
 ���������� � 	�
���� ����!�
 Hu

�

 ������
� ���� Ts ���� �� 	����
� #����� ��� ������
� ���� Ts �����
 ��
	����
 �� ����� �� �������� �
 ��
�� �� �
���� ��	��
� 	�
���� �

 ��������� ��
��� 
����� *�	�

�� ��� 	�
���� ����!�
 Hu �����
 �� 	����
 ��
� �
���� ��	�
���� HuTs ≥ 50 ��
����� #�
����� ��� 	�
������� �����
 �� ���� �� 	��	����� ���
������� �
��� ��(��
	� �
 �
 �		������� ���������� ��� 	�
������� 	��	������


���� �� � ������ �� ���
���� ���������
� ��������� ��	��
	� �

 	���	� ��
	�
������� ����!�
 Hu� ��� ���� ��� ���
�� 	�

�� �� 	��
��
 $������'� ���	�
���
� ���� Hu �����
 �� 	����
 ����� �
���� �
 ��
�� ��� ��� 	�
������� ��
������ ��� �
��� �����
 � �����
���� ����
� �� �����

1� 	�����
�

Ts = 60 ��	�

� $C�59'

Hu = 60 ���� ����� $C�5C'

��� ���
�	���
 ����!�
 ������� C> ��
�����

).�.�.� #	 ������ #�����
�

��� ��+�	�� � �� �� 	�
���� �
�� �
� �� ��� 56 �������
G��������
 ��������
��� �������� ��
�
� ������ Q �� ��������� 	����
 ��

Q =

⎡
⎢⎢⎢⎣

107 0 · · · 0
0 0 · · · 0
���

���
� � �

���
0 0 · · · 0

⎤
⎥⎥⎥⎦ dim(Q) = 12 × 12 $C�5:'
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� � &�
���� �� � *���F�
� ���������%��� 2����

#������� ��� �
��� 	��� ������ R ���� �� 	����
� "
 ��
�� �� �
���� �
	�
 �� ������!����
 �������� R �����
 �� ������ � 
��
���� #����������� ��
�
���� � ������ 	�
������� ����� �����
 �� ������ �
 �� ��
� ������� �� �����
��� 
������ �� ����
�� �
 ��� 	�
�������� "
 ������� �
�� �
� �
��� �� 
��
�

�� 	�
���� ��� �������� �� ��� ���
�	�� �� �
 
� 	�
�����
�� �

 �����
����
����
� �����  ����� �
 ��� �����
�
� �
����� ���
� �� ��� �
���� ��� �� �
 �(���
�������� ���
 ��� 	�
������� 	���
 ����
�� ����	� ������
 ��� �
����� �������
�
�
 �
 ��	������
� �� � �
 �
 �
������ 	�
�������� R �� ��������� 	����
 ��

R =

⎡
⎢⎢⎢⎢⎢⎢⎣

1.03 0 0 0 0
0 1.02 0 0 0
0 0 0.98 0 0
0 0 0 1.01 0
0 0 0 0 1

⎤
⎥⎥⎥⎥⎥⎥⎦ $C�5;'

����� ��� 	��� �� ������ �
 ��� �
��� ���	��
� ��� ������������� !�
�� 8�
7� ��	���� ���� �
��� �� ������
 �� �� ���� �
���� ��	��
� ���
 ��� �����
�
����� #������� ��� ������ 	�
���� �� ��� 
����� ��� �
���� 
��� ��� �

 �� ���

���� �� � ����� 	����

��� ���	�  ������� ρ ���
 �
 ��� ���
 ��������!����
 �����
� �
 ��
�� ��
������ �����
 � �������� �������
� �� 	����
 ��

ρ = 1011 $C�5<'

���	� �� ���� �
���� �� ��� �
� � �����
�� 	���� �� ���	��� ������� �� �
� �
 ����
� �����
�� ���
 �	�� ��

).�.�.�  
���
��
�  
���������

"
 �

����
 �� ��� �����	�� 	�
�����
�� ������
 �� �	������ ���������
�� 	�
�
�����
�� ��� ������
 �
 ���� ���
�	� ������������ �

 ���
�	� �����������
����� �
 ��	� !�
�� ����� 	�
�����
�� ��� �������
��
 �� 	�
�����
�
� ���
������ ���
�	� ������������ ���� ��	� !�
�� ��� 	�
�����
�� ��� 	����
 ��
���� ���� 	�
 �� ������ �
�
����
 �
 ��� ���������
 ����� ����� �
 ��� �������

��� ���
�	� ����������� 	�
�����
�� 	�
 �� �����
 ��

pT1,out,k ≤ 60 [◦C]
pT2,out,k ≤ 60 [◦C]
pT3,out,k ≤ 60 [◦C]
pT4,out,k ≤ 60 [◦C]
pT5,out,k ≤ 60 [◦C]
pT6,out,k ≤ 60 [◦C]

��� 1 ≤ k ≤ Hu − 1 $C�6>'

��5� 
� 
� ������ 
� >���'*@9 %� ��� �� ����� ����� �����
�� ρ 	�
�� ������� �
)�� ��
C�:��� ����	��C ������� ��
�� ����� ���� �����
�
�� )
�	��
��� �
		 ��� ����
 ��	��� ���
�

� �� ����
�	� ��	��
�� �� ��� �

�
��	 C��
�C �
��	���

<C
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	���
�����

��� ���
�	� ����������� ���� 	�
�����
�� 	�
 �� �����
 ��

|pT1,out,k − pT1,out,k−1| ≤ 0.3 [◦C/Ts]
|pT2,out,k − pT2,out,k−1| ≤ 0.3 [◦C/Ts]
|pT3,out,k − pT3,out,k−1| ≤ 0.3 [◦C/Ts]
|pT4,out,k − pT4,out,k−1| ≤ 0.3 [◦C/Ts]
|pT5,out,k − pT5,out,k−1| ≤ 0.3 [◦C/Ts]
|pT6,out,k − pT6,out,k−1| ≤ 0.3 [◦C/Ts]

��� 0 ≤ k ≤ Hu − 1 $C�65'

��� 	�
�����
�� �
 ����������� �� �� �
 ���� k = 1 ��	���� �� �� 
�� ��������
�� 	�
���� ��� ����������� �� ��� ���
�	� �� k = 0� 3
 ��� ����� ��

� ���
	�
�����
�� �
 ��� ����������� ����� ������ ���� k = 0 ��	���� �� �� ��������
�� ����� ��� 	��
�� ���� k = 0 �� k = 1�

���
� ������� �� $7�;6'�$7�;8'� ��� 	�
�����
�� ��� ����	����
 �

 ������
��!�
 ��

Zl ≤zk ≤ Zu 1 ≤ k ≤ Hu − 1 $C�66'

Ul ≤uk ≤ Uu 0 ≤ k ≤ Hu − 1 $C�67'

−Δye ≤ |ye,k+1 − ye,k| ≤ Δy 0 ≤ k ≤ Hu − 1 $C�68'

����� y �

 ye ���� �� �
 �� $C�5>'� �

 u �� $C�58'M

z =
[

y
ye

]
y =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

α6,out

pT6,out

gT1,out

gT2,out

gT3,out

gT5,out

gT6,out

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

ye =

⎡
⎢⎢⎢⎢⎣
pT1,out

pT2,out

pT3,out

pT4,out

pT5,out

⎤
⎥⎥⎥⎥⎦ u =

⎡
⎢⎢⎢⎢⎣

gT1,in

gT2,in

gT4,in

gT5,in

gT6,in

⎤
⎥⎥⎥⎥⎦ $C�69'

Zl =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

−∞
−∞
−∞
−∞
−∞
−∞
−∞
−∞
−∞
−∞
−∞
−∞

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

Zu =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∞
60
∞
∞
∞
∞
∞
60
60
60
60
60

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

Δye =

⎡
⎢⎢⎢⎢⎢⎢⎣

0.3
0.3
0.3
0.3
0.3
0.3

⎤
⎥⎥⎥⎥⎥⎥⎦ $C�6C'
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Ul =

⎡
⎢⎢⎢⎢⎢⎢⎣

25
25
25
25
25
25

⎤
⎥⎥⎥⎥⎥⎥⎦ Uu =

⎡
⎢⎢⎢⎢⎢⎢⎣

110
110
110
110
110
110

⎤
⎥⎥⎥⎥⎥⎥⎦ $C�6:'

#������� �� ���
� ��� ������ �����
��
 �
 ��	���
 7�8�8� ��� 	�
�����
�� ���
�����
 ��

Ωv ≤ ω $C�6;'

����� Ω �

 ω �� �� �
 ��

Ω =

⎡
⎢⎢⎢⎢⎣

ĈIxΘ + D̂Iu

−ĈIxΘ − D̂Iu

Λ
[
ĈeIxΘ + D̂eIu

]
I
−I

⎤
⎥⎥⎥⎥⎦ $C�6<'

ω =

⎡
⎢⎢⎢⎢⎢⎢⎣

Ẑu − ĈIxΨx0 − [ĈIxΘ + D̂Iu]t̃ − [ĈIxΞ + ÊId]d
−Ẑl + ĈIxΨx0 + [ĈIxΘ + D̂Iu]t̃ + [ĈIxΞ + ÊId]d

ΔYe − Λ
[
ĈeIxΨx0 + [ĈeIxΘ + D̂eIu]t̃ + [ĈeIxΞ + ÊeId]d

]
Ûu − t̃

−Ûl + t̃

⎤
⎥⎥⎥⎥⎥⎥⎦ $C�7>'

).�.�." 2��&�� ����
� 	���&
�
��

��� )����
 #����� �� 
��	����!�
 ���� ��� ���� ���� ���� �� ��� ��
�� ���
 �

��� ���
 ������!����
 �����
�� ��� 
��	���� ��
�� ���
 �
 ��� ���
 ������!��
���
 �� � ��
�� ���	� �� ��
�	�
 ����� ��� 
��	����!����
 �
 ��
�� �� �����
 ���
�������� �������� ������!����
 �������� ���������� �
 ��
�� ��� ��� )����

����� �� �����
 ��� ���� ������� �� ���� ��� ��� ��
�	�
 
��	����!�
 ��
�� �


��������� ��� ���� ���� �����

1� ���
� � )����
 ������ ��� ���������
� 
���� �� ��+�	��
 �� ������
�
����� 
���� 	����	�������	�� �

 �� ������
� ���  ����
	� �� ��� ����� 
�����
1�	���� ��� ���
�	� ������������ ��� 104 ������ ���
 ��� ���
�	� �

 ���
���������� ���  ����
	� ��� ���
�	� ����������� �����
 �� �� ����� 104 ������
���
 ��� �������� ��� ���� ���
�	� �

 ���� ��� 	� ����
	� ������ ��� ���

<;
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	���
�����

���	��� 
�������
	�� ����� ��
�
��� ��� ��������� �� 	�
�����
 ��M

Qkal =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 0 0 0 0 0 0
0 105 0 0 0 0 0
0 0 0.1 0 0 0 0
0 0 0 0.1 0 0 0
0 0 0 0 0.1 0 0
0 0 0 0 0 0.1 0
0 0 0 0 0 0 0.1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

$C�75'

����� ��	� 
����
�� �����
� Q(i, i) 	�������

 �� ��� �����
� �� ��� i �
 d�
#������� �� �� ������
 ���� ��� ���������
� 
���� �� ��� �������� 	�
���� ��
��
 ����� ����� ���
 ��� ���
�	� �

 ��� ����������� 
����� ��������� ���
	� ����
	� ������ ��� ��� ���������
� 
���� �� 	�
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*������ 
��� ����
� ���� 
�
� �
 D*��>;�E� ��� ��� 
��� ����
� ���� �
	��
� ���
����
���
 	� ���
� ��� 
���
� �
 ��� �����
� �����

*���� +�%�� 
���� ���� �����'�� #�
�����

Qs �� ��� ����
 �����  ��������	 ���� �
����� ��� ���������
 ��	����M

δ

δt
Ep + vx

δ

δx
Ep = λ0δM + δU , $.�5'

�����

Ep = ρshp, $.�6'

hp ���
� ��� ���	��	 �
������ �� ��� ����
� ��� ���	��	 �
������ �� 
��
�

��M

hp = Tp(cps + αcpw), $.�7'

����� cps �

 cpw ��� ��� ���	��	 ���� 	���	����� �� ��� ����
 �

 �����
�����	�� ����

*�������
� ��� ���� ��
� �� $.�5' �

 ����������
� ��� Ep �
� ����M

δ

δt
Qp =

δ

δt
(ρshp) $.�8'

=
δ

δt
(ρsTs(cps + αcpw)) $.�9'

= ρs

[
(cps + αcpw)

δTp

δt
+ cpwTp

δα

δt

]
, $.�C'

�

 ���������

5



. .���

��

δ

δx
Qp = ρs

[
(cps + αcpw)

δTp

δx
+ cpwTp

δα

δx

]
. $.�:'

"
�����
� $.�C' �

 $.�:' �
 ��� �����
�� �(�����
� $.�5'� ������� �
 ���
�������
�M

δ

δt
Qp + vx

δ

δx
Qp =

ρs

[
(cps + αcpw)

δTp

δt
+ cpwTp

δα

δt

]
+ ρsvx

[
(cps + αcpw)

δTp

δx
+ cpwTp

δα

δx

]
=

ρs

[
(cps + αcpw)

(
δTp

δt
+ vx

δTp

δx

)
+ cpwTp

(
δα

δt
+ vx

δα

δx

)]
,

⇓

δ

δt
Qp + vx

δ

δx
Qp = ρs

[
(cps + αcpw)

(
δTp

δt
+ vx

δTp

δx

)
+ cpwTp

(
δα

δt
+ vx

δα

δx

)]
.

$.�;'

#������ �� �
�����
� ��� ����� ��

 ��
� �� $.�5' �
�� ��� ���� ��

 ��
� ��
$.�;'� ������� �
 ��� �������
�M

λ0δM + δU

ρs
= (cps + αcpw)

(
δTp

δt
+ vx

δTp

δx

)
+ cpwTp

(
δα

δt
+ vx

δα

δx

)
. $.�<'

#�
����� ��� ����
 ����	 ���� ������	� 	�������� $.�5>'� �� �
�����
 �
 $.�<'M

δα

δt
+ vx

δα

δz
=

δM

ρs
, $.�5>'

λ0δM + δU

ρs
= (cps + αcpw)

(
δTp

δt
+ vx

δTp

δx

)
+ cpwTp

δM

ρs
,

(cps + αcpw)
(

δTp

δt
+ vx

δTp

δx

)
=

λ0δM + δU − cpwTpδM

ρs

⇓

δTp

δt
+ vx

δTp

δx
=

(λ0 − cpwTp)δM + δU

ρs(cps + αcpw)
$.�55'

���	� 	�
	��
�� ��� ������
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.�5 2��� ����
�

*���� $�� 
���� ���� �����'�� #�
�����

��� ��� ����� ���� ���
���� �(�����
 �� �� �
 ��M

δ

δt
Qg + vz

δ

δz
Qg = −λ0δM − δU , $.�56'

�����

Qg = ρahg, $.�57'

�



hg = cpaTg + γ(λ0 + cpvTg), $.�58'

����� cpa �

 cpv ��� ��� ���	��	 ���� 	���	����� �� ��� ��� �

  ����
�����	�� ����

4���� ���  ��������	 ���� �� ����������
 �

 
�����
�����
M

δ

δt
Qg =

δ

δt
(ρahg) $.�59'

=
δ

δt
[ρa(cpaTg + γ(λ0 + cpvTg))] $.�5C'

= ρa

[
(cpa + γcpv)

δTg

δt
+ (λ0 + cpvTg)

δγ

δt

]
, $.�5:'

�

 ���������

δ

δz
Qg = ρa

[
(cpa + γcpv)

δTg

δz
+ (λ0 + cpvTg)

δγ

δz

]
, $.�5;'

"
�����
 �
 ��� ���� ��
� �� ��� �����
�� ��� ����� $.�56' ���
� ��M

δ

δt
Qg + vz

δ

δz
Qg =

ρa

[
(cpa + γcpv)

δTg

δt
+ (λ0 + cpvTg)

δγ

δt

]
+ ρavz

[
(cPA + γcpv)

δTg

δz
+ (λ0 + cpvTg)

δγ

δz

]
=

ρa

[
(cpa + γcpv)

(
δTg

δt
+ vz

δTg

δz

)
+ (λ0 + cpvTg)

(
δγ

δt
+ vz

δγ

δz

)]
,

⇓

δ

δt
Qg+vz

δ

δz
Qg = ρa

[
(cpa + γcpv)

(
δTg

δt
+ vz

δTg

δz

)
+ (λ0 + cpvTg)

(
δγ

δt
+ vz

δγ

δz

)]
.

$.�5<'
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#������ �� �
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� ��� ����� ��

 ��
� �� $.�56' �
�� ��� ���� ��

 ��
�
�� $.�5<'� ������� �
 ��� �������
�M

−λ0δM − δU

ρa
= (cpa + γcpv)

(
δTg

δt
+ vz

δTg

δz

)
+ (λ0 + cpvTg)

(
δγ

δt
+ vz

δγ

δz

)
.

$.�6>'
#�
����� �� �
�����
� ��� ��� ����� ���� ���
���� $.�65' �
 $.�6>'� ��� �
��

���� �(�����
 �� �� ����
M

∂γ

∂t
+ vz

∂γ

∂z
= −δM

ρa
, $.�65'

−λ0δM − δU

ρa
= (cpa + γcpv)

(
δTg

δt
+ vz

δTg

δz

)
− (λ0 + cpvTg)

δM

ρa
,

(cpa + γcpv)
(

δTg

δt
+ vz

δTg

δz

)
=

1
ρa

[−λ0δM − δU + (λ0 + cpvTg)δM ] ,

⇓

δTg

δt
+ vz

δTg

δz
=

cpvTgδM − δU

ρa(cpa + γcpv)
$.�66'

'�
  �*����������� �4 ��� 0�������� ���#


��� 
�
��
��� ����� �� ��� 32?O� 
��
�
 �
 $8�66�8�69' ��� ��������� 
�����
�
�����
 �

 ��� ������� ��� ����
 �
 ���� ����

��� ��� �����
 ��� ����

�����
������
 �� �� 	��	����� ��� -�	����
 J 
��
�
 �
 $8�9:'�

*���� ��� 2��%����� -
�������

	�
���� ��&����� 8r19<

∂r1(�)
∂x1

= − hε

λ0ρs
(x4 − Tdp(x3))

∂

∂x1
ζ(x1) $.�67'

∂r1(�)
∂x2

= 0 $.�68'

∂r1(�)
∂x3

=
hε

λ0ρs
ζ(x1)

∂

∂x3
Tdp(x3) $.�69'

∂r1(�)
∂x4

= − hε

λ0ρs
ζ(x1) $.�6C'

8



.�6 2�����
������
 �� ��� 4�
��
��� �����

	�
���� �
&%
�����
 8r29<

∂r2(�)
∂x1

=
[(

(cps + x1cpw)
ζ(x1)

∂

∂x1
[ζ(x1)] − cpw

)
(λ0 − cpwx4)δM $.�6:'

−δUcpw]
1

ρs(cps + cpwx1)2

∂r2(�)
∂x2

= − cpwδM + hε

ρs(cps + cpwx1)
$.�6;'

∂r2(�)
∂x3

=
λ0 − cpwx4

ρs(cps + cpwx1)
hε

λ0
ζ(x1)

∂

∂x3
Tdp(x3) $.�6<'

∂r2(�)
∂x2

=
hε − (1 − cpwx2

λ0
)hεζ(x1)

ρs(cps + cpwx1)
$.�7>'

��� ��&����� 8r39<

∂r3(�)
∂x1

=
hε

λ0ρa
(x4 − Tdp(x3))

∂

∂x1
ζ(x1) $.�75'

∂r3(�)
∂x2

= 0 $.�76'

∂r3(�)
∂x3

= − hε

λ0ρa
ζ(x1)

∂

∂x3
Tdp(x3) $.�77'

∂r3(�)
∂x4

=
hε

λ0ρa
ζ(x1) $.�78'

��� �
&%
�����
8r49<

∂r4(�)
∂x1

=
cpvx4δM

ρa(cpa + cpvx3)ζ(x1)
∂

∂x1
ζ(x1) $.�79'

∂r4(�)
∂x2

=
hε

ρa(cpa + cpvx3)
$.�7C'

∂r4(�)
∂x3

=
cpvx4

ρa(cpa + cpvx3)2
$.�7:'[

hε

λ0
ζ(x1)(cpa + cpvx3)

∂

∂x3
[Tdp(x3)] − cpvδM +

δU

x4

]
∂r4(�)
∂x4

=
hε

ρa(cpa + cpvx3)

[
cpv

λ0

(
Tdp(x3) − 2x4

)
ζ(x1) − 1

]
$.�7;'

*���� ��� �� 
���� ���!����
��

��� 
�� ���
� ����������� �� �� �
 ��

Tdp(x3) =
1

1
T0

− Rv
λ0

ln( Patmx3
Ps,0(β+x3))

$.�7<'
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��� 
�����
������
 �� $.�7<' ���� �����	� �� x3 �� �� �
 ��

∂

∂x3
Tdp(x3) =

∂f(u1)
∂u1

�

∂u1

∂x3
$.�8>'

�����

f(u1) =
1
u1

u1 =
1
T0

− Rv

λ0
ln(

Patmx3

Ps,0(β + x3)
)

#������ ��

∂u1

∂x3
= −Rv

λ0

∂

∂x3
ln

(
Patmx3

Ps,0(β + x3)

)
$.�85'

= −Rv

λ0

∂f(u2)
∂u2

�

∂u2

∂x3
$.�86'

�����

f(u2) = ln(u2) u2 =
Patmx3

Ps,0(β + x3)

#������ ��

∂u2

∂x3
=

Patm

Ps,0

β

(β + x3)2
$.�87'

�(�����
 .�86 �� 
�� �� �
 ��

∂u1

∂x3
= −Rv

λ0

1
u2

Patm

Ps,0

β

β + x3
$.�88'

�(�����
 .�8> 	�
 
�� �� ��� �
 ��

∂

∂x3
Tdp(x3) =

λ0RvβT0
2[

λ0 − Rvln( Patmx3
Ps,0(β+x3)T0

]2
(β + x3)x3

$.�89'
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� �� ��� ���
�	� ����� ���
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� ���� �
� !�
� �� ���

���� ���
 ��� �������
� ���
�	� ������ �� ��� � ����� �� ��� ��� ����
���
�	� �������

� ���
 ���
������
� ��� ������
 ��� !�
��� ��� �������
� ��� ������ �� ���
� ����� �� ��� ��� ���� ��� �������

� ��� ���������
 �� ��� !�
�� �� �(���� ���� ����� �������
�����
 ����
���	��	���

���� ������	� ��� ����

�� 	�
���
� ��� 
������ �� ��� �� ���
���� ���
���
�	� �

 ��� ���� �
� !�
� �� �
������ ���	� �
	��
�� ����
� �� ��� ���
�	�
������
 ���� !�
��� #������� ����� ��� ��� �������� �� ��� �� ��������
���������!�
� 
������ ���� � ��
��������� �

 ���
 � ������������� 
�����

*���� �����'�� ��� ��� =����

"
 ��	���
 8�8 �� ��� ����
 ���� �� 	���
 �������
� ��	� !�
� �� � ��
��� ��
���
1� �

���
� $8�9<' ���� j� �

 
��
�
� xxxIxxxlin �� 	�
 ����� ��� ��
��� ��
��
��� !�
� j ��

ẋ̇ẋxj = AAAjxxxj + BBBjuuuj $.�8C'

����� AAAj �

 BBBj ��� ��� ������ �����	�� ��� !�
� j 
��
�
 �
 $8�C>' �


$8�C5'� �����	��� ���� "� ������� ���� $8�C6' ���� ��� �
���  �	��� �� !�
� j ��
�� �
 ��

ujujuj =

⎡
⎢⎢⎢⎣
xxxj

1,in

xxxj
2,in

xxxj
3,in

xxxj
4,in

⎤
⎥⎥⎥⎦ $.�8:'

��� ����	���� �� xxxi �

 xxxi,in 
��
�
 �
 $8�95' �

 $8�96' ��� �������!�
 ��� ���
���
�� ��	� ���� ��� �����
� ������
 ��� !�
�� ��� ���� ������ �

������
M

:



. .���

��

xxxi,in =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

xi,in(1)

000
xi,in(2)

000
���

xi,in(M)

000

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

i ∈ 1, 2

xxxi,in =

⎡
⎢⎢⎢⎢⎢⎣

xi,in(1)

xi,in(2)
���

xi,in(N)

000

⎤
⎥⎥⎥⎥⎥⎦ i ∈ 3, 4

xxxi =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

xi,(1,1)

xi,(2,1)

xi,(3,1)
���

xi,(N,1)

xi,(1,2)

xi,(2,2)

xi,(3,2)
���

xi,(N,2)

xi,(1,3)

xi,(2,3)

xi,(3,3)
���

xi,(1,M−1)
���

xi,(N,M)

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

i ∈ [1, 4]

����� ��� !��� ������ �
 xxxi,in, 000 �

 000 ��� 
��
�
 �
 $8�CC' �

 $8�C8' �����	�
�� ����

�.�.�.� ������
� 
� %�
���� �
�;

� 4
�
�

��� �����
� �� ��� ���
�	� ����� i �����
� !�
� j − 1 �� ���	�������� m
�
����
� !�
� j �� 
��
�
 ��

xj
i,in(m) = xj

i (1,m) = xj−1
i (N,m) i ∈ 1, 2 $.�8;'

�

 ���� �����
� 	�
 ���� �� 
��	����
 �
 ������ ����M

xxxj
i,in = ΓΓΓsxxx

j−1
i i ∈ 1, 2 $.�8<'

�����

ΓΓΓs =

⎡
⎢⎢⎢⎢⎢⎣
φφφs 0 0 · · · 0
0 φφφs 0 · · · 0
0 0 φφφs · · · 0
���

���
���

� � �
���

0 0 0 · · · φφφs

⎤
⎥⎥⎥⎥⎥⎦ φφφs =

⎡
⎢⎢⎢⎣

0 0 · · · 1
0 0 · · · 0
���

���
� � �

���
0 0 · · · 0

⎤
⎥⎥⎥⎦ $.�9>'

dim(ΓΓΓs) = (N �M) × (N �M)
dim(φφφs) = N × N

;



.�7 @�
��� *���	����
� �� ��������F�
� 2�����

�.�.�.� #����� 
� ��
 %�
���� �
�;

� ��
 4
�
�

���
 � ���������!�
� 
���� �� ���
� �� �� 
����� �� ��� ��� ���
�	� ������

���� �� ��� !�
��� ���� 	�
 �� 
�
� +��� �� 
�����
� ��� ���
�	� ���� �

��� ���
 !�
� 
��
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"
 ���� ������ �� �� ������
 ���� ���
 �� �� ����
� �� ��� ���
�	� ������

���� �� ��� !�
��� ���
 ��� ���
�	� �� 	��������� ����
� "� �� ���� ������

���� ��� ���� ���
 �� ��� ��� ���
�	� �� !����

���
 ����� �� ����
� ������
 ��� !�
��� ��� �����
� �� ��� ���
�	� �����
i �����
� !�
� j − 1 �
����
� !�
� j �� ���	�������� m �� 
��
�
 ��

xj
i,in(m) = xj

i (1,m) =
1
M

M∑
k=1

xj−1
i (N, k) i ∈ 1, 2 $.�95'

���	� �� ��� � ����� �� ��� ���
�	� ������ �����
� ��� ��� ���� !�
�� "� ��
��
� �� �������
� ���� ��
	���
 �� 
��
 � �����
� ������ ���� �� ��
 �

$.�8<'� ���� 
�� �����
� ������� ���	� 	�������

 �� $.�95' �� 
��
�
 ��

xxxj
i,in = ΓΓΓsxxx

j−1
i $.�96'

�����

ΓΓΓs =

⎡
⎢⎢⎢⎣
φφφs φφφs · · · φφφs

φφφs φφφs · · · φφφs
���

���
� � �

���
φφφs φφφs · · · φφφs

⎤
⎥⎥⎥⎦ φφφs =

⎡
⎢⎢⎢⎣
0 0 · · · 1

M
0 0 · · · 0
���

���
� � �

���
0 0 · · · 0

⎤
⎥⎥⎥⎦ $.�97'

dim(ΓΓΓs) = (N �M) × (N �M)
dim(φφφs) = N × N
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� !�
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��� �� �
�����
!�
�� "
 ��� �������
� �� �� ������
 ���� ��� ��� ���
������
 ������
 ��� !�
��
�� 	��������� ����
� ���	� �� 
�� 
�	�������� � �������	����
� ��� ������ �� �
������ �� ��� 
������ ��� ���� ��� ��� ���

���
 ����
� ��� ��� ������
 ��� !�
��� ��� �����
� �� ��� ��� ����� i
�����
� !�
� h �
����
� !�
� j �� 
��
�
 ��

xj
i,in(n) = xj

i (n, 1) =
1
N

N∑
k=1

xh
i (k,M) i ∈ 3, 4 $.�98'

���	� �� ��� � ����� �� ��� ��� ������ �����
� !�
� h� "� �� ��
� �� �������
�
���� ��
	���
 �� 
��
 � �����
� ������ ���� �� ��
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 $.�8<' �

 $.�96'�
���� 
�� �����
� ������� ���	� 	�������

 �� $.�98' �� 
��
�
 ��
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xxxj
i,in = ΓΓΓgxxx

h
i $.�99'

�����

ΓΓΓg =

⎡
⎢⎢⎢⎣

0 0 · · · φφφg

0 0 · · · 0
���

���
� � �

���
0 0 · · · 0

⎤
⎥⎥⎥⎦ φφφg =

⎡
⎢⎢⎢⎣

1
N

1
N · · · 1

N
1
N

1
N · · · 1

N
���

���
� � �

���
1
N

1
N · · · 1

N

⎤
⎥⎥⎥⎦ $.�9C'

dim(ΓΓΓg) = (N �M) × (N �M)
dim(φφφg) = N × N

*���� +��
��
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� (�����

0��� �� 	�
����	� ��� �
���  �	��� $.�8:' �� !�
� j � ����  �	��� 
���

�
�
 ��� 	�
��������
 �� ��� !�
�� *� ���� 	�
��������
� �� ���
�	� ���
����
������
 ��� !�
�� �� ��������M

5� ��� !�
� �� ��� ���� !�
� �� ��� 
���� �

 ��������� ����� �� 
� ���
�	�
���
���� ���� ��� ���� !�
���

6� ���
���� �� ���
�	� ���� ��� ��� ���� !�
��

7� ���
���� �� ���
�	� ���� ��� ��� ���� !�
� ���� ����
� �
	��
�
�

��� ��	� �� ��� 	�
��������
� �����
 ��� �� ����� �� ���� � 	�
��������
 �� ���
�
���G���
���� �� ��� !�
�M

� .�� �
��� �� ��� !�
� �� ����� ���� ���� �� �� � ��
�������
  ������� ��� ���

�����

� .�� �
��� �� ��� !�
� �� ���
 ���� ���� �� �� ���
������
 ���� �
����� !�
��

.�� �������� ���� ����� C �������� 	�
��������
� �� ���
���� �� ��� !�
��
�� 	�
 
�� 	�
����	� ��� �
���  �	��� �� � 	����
����
 �� ���
�	� ���
����
�

 ��� ���
����M

uuuj = xxxj
s,in + xxxj

g,in $.�9:'

����� uuuj �� ��� �
���  �	��� �� !�
� j� ����  �	��� �� � 	����
����
 �� ���
�
���  �	��� �� ��� ���
�	� xxxj

s,in �

 ��� ��� xxxj
g,in�

�.�.�.� 	�
���� ��� ���  
�6������
��

��� ���  �	���� �
 $.�9:' ���� 
�� �� 
��
�
 ��� ��� 
�����
� 	�
��������
�
��
���
�
 ��� ��
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���� �� ������
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& ��
 %�
��
�� 4
�
3 ���� �� ���� ��

�� ��� ���� !�
� �� ��� 
����� ���
 �� 	�
 ����� ��� ���
�	� �
���  �	��� ���
!�
� j ��

xxxj
s,in = ΦΦΦsxxx

j−1 $.�9;'

����� xxxj−1 �� ��� ������ �� !�
� j − 1 ����� ��� ���
�	� �� ���
������
 �����
ΦΦΦs �� ��� ���
�	� ���
�����
 ������ ������
 ��� �������� �

 �� 
��
�
 ��

ΦΦΦs =

⎡
⎢⎢⎣
ΓΓΓs 0 0 0
0 ΓΓΓs 0 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎦ $.�9<'

"� ����� �� ����
� �� ��� ���
�	� ������
 ��� !�
��� ���
 ΦΦΦs �
 $.�9;' 	�
 ��
�����	�
 ��

ΦΦΦs =

⎡
⎢⎢⎣
ΓΓΓs 0 0 0
0 ΓΓΓs 0 0
0 0 0 0
0 0 0 0

⎤
⎥⎥⎦ $.�C>'

dim(ΦΦΦs) = dim(ΦΦΦs) = (N �M � 4) × (N �M � 4)

����� ΓΓΓs �

 ΓΓΓs �� �� �
 �
 $.�9>' �

 $.�97'� �����	�� ����

�� ��
 4
�
 �� ��
 6��� 4
�
 
� ��
 ���
� $j = 1'� �� 	�
 ����� ���
���
�	� �
���  �	��� ��

xxx1
s,in = BBBsuuus $.�C5'

�����

BBBs =

⎡
⎢⎢⎣
δδδ 0
0 δδδ
0 0
0 0

⎤
⎥⎥⎦ uuus =

[
αin

Ts,in

]
$.�C6'

αj
in �

 T j

s,in �� ��� ����
��� �

 ��� ����������� �� ��� ���
�	� �
����
� ���

����� δδδ �� 
��
�
 �
 $8�C8'

�� ��
 ��� ��%�� �
 ��
 4
�
 �� � &���%����
� �������
 �
� ��

���
�3 �� 	�
 ����� ��� ��� �
���  �	��� ��� !�
� j ��

xxxj
g,in = BBBguuuj $.�C7'

�����

BBBg =

⎡
⎢⎢⎣

0 0
0 0
σσσ 0
0 σσσ

⎤
⎥⎥⎦ uuuj =

[
γj

in

T j
g,in

]
$.�C8'
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γj
in �

 T j

g,in �� ��� ����
��� �

 ��� ����������� �� ��� ��� �
����
� !�
� j�
σσσ �� 
��
�
 �
 $8�CC'

�� ��
 ��� ��%�� �
 ��
 4
�
 �� ��
� ��� ��
& ��
��
� 4
�
3 ��
	�
 ����� ��� ��� �
���  �	��� ��� !�
� j ��

xxxj
g,in = ΦΦΦgxxx

h $.�C9'

����� xxxh �� ��� ������ �� !�
� h ����� ���
 ��� �� ���
������
 ����� ΦΦΦg �� ���
��� ���
�����
 ������ ������
 ��� �������� �

 �� 
��
�
 ��

ΦΦΦg =

⎡
⎢⎢⎣

0 0 0 0
0 0 0 0
0 0 ΓΓΓg 0
0 0 0 ΓΓΓg

⎤
⎥⎥⎦ $.�CC'

dim(ΦΦΦg) = (N �M � 4) × (N �M � 4)

����� ΓΓΓg �� �� �
 �
 $.�9C'�

�.�.�.� �;
 ��%�� =
��
� /��&%�
�

�� �
�� %�
���� ��� ��� �� ������
��
� ��
& 
��
� 4
�
�3 �� 	�

����� $.�9:' ��

uuuj = ΦΦΦsxxx
j−1 + ΦΦΦgxxx

h $.�C:'

����� xxxj−1 �� ��� ������ �� !�
� j − 1 ����� ��� ���
�	� �� ���
������

����� �

 xxxh �� ��� ������ �� !�
� h ����� ��� ���
 ��� �� ���
������
 �����

�� ��
 6��� 4
�
 
� ��
 ���
� ��
� ��
�� ���3 ��� �
���  �	��� �� 
��

���

�
� �
 ��� ����� !�
�� �� ��� 
����� �

 	�
 ��������� �� �����
 �� ���
��� �� ��� �����
�� �
����M

uuuj = BBBsuuus + BBBguuu1 $.�C;'

����� uuus �

 uuu1 �� 
��
�
 �
 $.�C6' �

 $.�C8'� �����	�� ����

*���� *����	%��� ��� �
%��!%� =��� +�����

�� 
�� ��
� �� 
��	���� ��� �������� !�
� 
���� �� �
� ��
��� ������� 1�
�����!�
� ��� �
���  �	��� �
 $.�9:' �� ������ ��� !�
�� 
��
�
 �
 $.�8C' �
��
�
� ������� � 
���� 	�
���
�
� L !�
�� �

 ) �����
�� ��� �
���� 	�
 ��

��
�
 ��

˙̂ẋ̂ẋ̂x = Â̂ÂAx̂̂x̂x + B̂̂B̂Bû̂ûu $.�C<'
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